T TSIT AT Ve <@ AT,
forea wam, dia e, T,
@S — 226010
HEAT- 145 /05/FF FTHTT(ARE)/2025/01-981811/2025

et fotiw: 09 R, 2025
STTAYIR AT
JITINT o forgmae em-01-ueq1/202 5, Tftses arear witer-2025 sht forfad wier i
06 & 07 Toawer, 2025 = Tedeh fa St arferat o YT o 48 SHYST 8§ A shr it off |
SXh oh ohH H ST ST O WeIferd e vt ot aeg giw foa s & foR foien
066{071’14?11-—011,2025ﬁw%@aqﬁm%mﬁzﬁﬁﬁmmﬁwmmsmmw@w
Wﬁmupsssc.gov.inﬂwmﬂﬁﬁi%Wﬁﬂﬁ‘d%—

06-09-2025-
Shift 1- hitps://drive.google.com/file/d/1LZZw9VIH7rlr RWiQT @XQZ Wen/view

06-09-2025-
Shift 2-hitps.//drive.google.com/file/d/1Y. 5Ax2kMIOTh2rx@Mk4—BO] G5Fs0az/view

N\

07-09-2025— %
Shift I-htips://drive.google.com/file/d/1XITISD -sjJqUJ4t9b9nQoil hga/view

07-09-2025-
Shift 2-htips.//drive.google.com/file/d/, %CXEI P99QjPESVFVKiTWS5LnYo/view
=4 € foh It Provisional SqOeporIT fATeh 15.09.2025 ek ST Y SerTse W Suetser

T | \}
& 4

oo s

I TR ITEf R WA =T S,
TS |
Sy



IR YY1 31N Wl =T AT, e
oo wem-01-wdien 2025
URFRTR 3r€a1 9den (PET)-2025
ST FHell (AR TE)

witen fafer : 07-09-2025 arett : Tyt

AT Y vee B, S wifer e ® |
Ff=h

Fe shifar ey § gerie o IR | ==l i B, See o Y N
FHAASTA

S AR FH I G I HEd & |

N )
STfISHT T T T 2, Freafiadiareai s & we) vreg &1 wE HIRT |

-

i (3., 6. . 10)  Feflaken a1 e

t@mmﬁ%waﬁu s

& wfecy § ymaiafoishar 6 yaft wd=i e § T 36} | wereA st % g 3R
TAI 3 AR % IR T AR HAMied 1 SaieH & 3T | T ART 6l T&19T Hieh I
AT S HT B ATEIh @l fhaT 8 | T&f o S -S(1ad ol GHEASTl H Ar % qmd
T@H I 3L U Th FTEerhil o @ 2 |

TR e T TRE T 1950 % TTaTd. 3ifues T & I g | urior e o wd o |
TERd % H1 T TIE SHEe 4 R | ot a3 Iu=IEl o wierw ¥ geaid uTHior Sfa|
o1 wHERE foaor fRaT 2 | IHeE % U8 HIA H H3 SihAA % TS HeAT-1883,THd Wi -
1899, ‘JuREel Fer'-1907, “HIgd I FfP-1912, TR N IRIH -1915, TS gt gRI
forfea Teter-1914, freqes we@ o fafed et ghar-1925 anfe su=mEr § s w/ ™
TRl % <3 21 8 |
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g & TN, e, SHEw e sy § wier Shew, difsa amfiei # 3w areft =9 &
I B & | T SUSITE] § S AmIeh, ST SHae 3R TOnTd UTH SIEwl % HehHUl e
HeH T T H IWH I I § | SRRt JHIG o faaet! § 7@ Sfieq i et i SR s9m
fopam 2 | 3 9g IR WeE, IAATe AR, T Ted, dag gennedf e gHt s W =erd @,
e Ir=feTehar <ht He feafd <l 3R |

&t oifeca o rfafoeTehar & AT IURITEHR HUATEETY W) @ & | 39 gi foran m ggen
Jafersh 3u=mE el SAfeer-1954, &l #1 ygu sifafels SU=E AET WA ® | 3He WIg
SfafeTeRar 3TfYeh AT § T T3 | STiafcie diiged fafay &9i § THg9 81 T | 381 59 ™
Hiea R, W TeE, THe iy, T e W, femiy Seft, SRavETe W, SesTETe, e I,
ATl AR, T WA, e yere fig, faaeht wr anfe s fean o wshar @ | &9 1960 % 9w=T
UMHEfoTeh 9T 3k Sotadt s | 390 a1, aml, 39w, ey, fome, Wt snfe +i
FATId T ITH g3 |

fopE g Y 3T T’ 39 AR o SRV W AHTEIh Hifee ol JATeIo & form ?
HETeHT TiEht

T Afee W YRH & %Waﬁaﬁnﬁ‘@raﬁgm|

7.
1950 -~

8. | Raw wew g fafaa 1925 3Tie TomET § TR TR TR IR 3 g9 B E |
e g ’L\'.

9. | ford IUIHHR & Y@ ST T ”,‘ﬁ}m’,‘ﬁman’aﬁm@ﬁuﬁwsﬁaﬁ,ﬁ%awvﬁﬁm
et A @B P,
iy el

10.

r 4
o SRR g1 R el SR I Al e - 1954, T&=< 1 315 Sitalers w=m
HHT ST & 7
ORI XU

e (7. 9. 11 | 9. 9. 15) : F=foafaa T # ggat @ T T % W G |

I f&dt Wt 58 &9 # aielt 3§93 It @ 98 @l St 1 & difaicsh W ®9 g, e
forepre qeaa: I~feel Srarsdt § g3 | Wt Siell 1 WA ®9 gEel vrdrsdt ¥ fierdn 2 foeq =iegel
IaTeE! b TRY H R GEU 1 Ugell SR @ Sieht H Hidar hi AT 6l | HEIh deb @el siett
TEId: ST i AN o &9 H & Y= off | 39 I H S SR ST} ey i A o |
ST 1 LM A, Tl I qoEieE | R BRe i faumfa 3 ffea iR doataa fem | 3|
I HRET TSGR H TSThTS shi WIS BT hid! ol | 37d: 31 RO § @l diel ufera-& @,
TAfeh T 3T WRA | SEUeh <l T ThAT T AT off |

0S5

2 MASTER SET




19 ff 3fR 20 of vl H S FE-FATH F1 TER I A @ el TES €T F TR WIWT 6 T
T A>T SETh T AT % &9 § IHT H G TS Hifeh T dadl 3Aferes saaes off |

TER § IS @ < 9 & wre f§d sien ol i G gt | ggu o HATfashR, Wi o
IS T AIfEeT & YHR, TSHITdeh IFTEshdl & 3g9d, TA-UEI3T & JehRH, SHHIURo qe
TEeH h STaTEhAl TG RV 4 G Sl § faefaa & w1 qrgt wra 6 waifas s B S
Ieht SEeh hl WTNT & &9 § TATMUq o T | 56t ety § vRd=g giwes AereiR we fgadt 3t
e 3G A fedt e @l R 9 ufitehd G § AreH eI | S SR Sl geifad s % fae
et foereh, gaTe TEadl 3nfe Tefas 3t arfifes Janatt 3 & w1 s foean |

T 1949 E. # wigum # T H ToWTWr % €9 H Sihd @ % U9E $E 39 TH UK q
FRISET T e L foram 8 | oo o SAfeehar U=l | Sme 3R fren Y o & 2 | e,
ToRTd 3R wETTSg 3 38 fedta e o w9 § Hr=a € R |

11.

d: Wl St o foehr fope STl | g3 ?

ERIC]
12. mwﬁ%ﬁw@%mﬁ@@wﬁmﬁmﬁ 2
IR G
13. | SIS I TEEH STt A, 3T ol ordiea® st 3 TR =i fore ffed 3iR deafo fomm 2
feremrafa N\
V 4 f‘\ <
14, | wom § 3 9 TST R, SI1E, Teg) Sier STt hl S Tt & |
== \
15. | &1 ﬁur?ﬁﬁww%mﬁ@méﬁ%wwﬁm@mw
mﬁgﬁawﬁwﬁ?ﬂ
1949
16. | 3 emffes i fopey b & 7
24
How many Tirthankaras are there in the Jain religious tradition ?
24
17. | Iufwe w1eg =1 Smfeceh 319f 1 B 7
ferelt o g s
What is the literal meaning of the word ‘Upanishad’ ?
To sit near someone
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18.

fay a1dt vrar Y T A aTell dgh” % w9 7 wfg vfaw e e woErst e oft 2
LIFEICE]

The famous statue known as the “Dancing Girl” of the Indus Valley Civilization was discovered
at which site ?

Mohenjodaro

19.

g ad 1 fafiess’ a1 Aficsd’ s 1 b R R ?

o= et /aug, o dig foremd @

What does the term Tipitaka or Tripitaka refer to in Buddhism ?
Three baskets/collections, contains Buddhist teachings

20.

wgem o TR fretera & aftfa ges shet & fmior o1 9 fomm @ sifeeprd w1 fean Simar @ 2
KA

Which Mauryan official is credited with constructing the Sudarshan Cake as mentioned in the
Girnar Rock Inscription of Rudradaman ?

Pushyagupta

21.

ard | 3ifem fefest s &9 o ¢
SR ECCEC]

\
The last British Viceroy in India was N \{,
Lord Mountbatten N

22.

o J
wﬁwwwm@mﬁmaﬁnﬁeﬁ?
JATHST HEUT AT \

Indian Home Rule Societyy%f&ndon was founded by
Shyamji Krishna Vagma“ J

23.

Ny
LTS o 919§ i SHET ST A7 ?
. TS

Who was known as ‘Rajaji’ ?
C. Rajagopalachari

24.

fégram frafsstena wEifuem i woro form o g8 off ¢
1924

Hindusthan Republican Association was founded in the year
1924

25.

T WA o T8t Usgdtd shid & 7
The first President of the Independent India was
Dr. Rajendra Prasad
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26.

U HE U I HEY 3! faRvand &
THe 1T 3R TAT TR o S IferT hl SN

A Federal State is best characterized by
Power shared between central and local governments

27.

A bl ga8 @el 48 HH-1 & ?
|

Which is the longest river in India ?
Ganga

28.

STl GAYRUT T q&T |0 R R 7
TNl ST ST AT

What is the main source of groundwater recharge ?
Rainwater infiltration

29.

goefl T a6 UM -9 P 7H S 7 7
STCTRMHT Y
Which desert is considered the driest place on Earth'?
Atacama -

30.

i . &
Hota fohe Yo o a1 o fore ufeg 8 2, "\
S5 X ‘ﬁ s
) \
Sundarbans are famous for whiggfype of forests ?
Mangrove

V AP ...
v o

31.

¢
GATT 1 aTeqd > TR
A fe aﬁ%ﬁ@u&ai@

GATT stands for

General Agreement on Tariffs and Trade

32.

refi gererdfa FisT X <hfed oft |
AT =A™ 3T THEAT o |12 foremma

Ninth Five Year Plan focused on
Growth with social justice and equality

33.

ugel! TEfa ASHT (1951-56)  THI WRA - THEAST T HAT B T&T o1 | o off

IROTITF <t TG, Wier 2t iR et 3iR gt ggrehifa

At the time of the First Five Year Plan (1951-56) India was faced with three problems.

They were

Influx of refugees, severe food shortage and mounting inflation
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34.

SEET el w1 R ?
fet ot fereft fir &= o =aferan < S 1 eguE

What is density of population ?
A ratio of the number of persons per sq. km of land area

35.

WA H #ofgll TSR sk ! 3R 1 el Sl & 7
TUT JTHOT TSRTR ST

Wage Employment Programme in India is also known as
Sampoorna Grameen Rozgar Yojana

36.

e a9 I 6 Tt 2@ Fo ~Arer uran g fob g foe veu St shdex w@ o @ 2
3 3 atg fond safda & IR 1 Iocier L &1 2 |
T

writ is issued when the court finds that a particular office,holder is not doing legal
duty and thereby is infringing on the right of an individual.
Mandamus

37.

WA o o1 Hiq9H ol e T8l &, dfce TER T@uhfig Fird 61 feie ® 1976 H 429
guneE rfufem g Sig e Y |
Hifeteh shdsa -~
were not the part of original Genstitution of India instead added in 1976 by
42" Amendment Act on the recommend ?Ton f Sardar Swaran Singh Committee.

38.

Fundamental Duties n 5
A"

WA % e s e \ﬁ“@?ﬁﬁl
TRATEAT

o~
Indian Constitution starts yith
Preamble y S

39.

_—
T hT IRATST AR Ffae= § % A & TS B |
FIEDT 12

The definition of ‘State’ is provided under of the Indian Constitution.
Article 12

40.

oG HeEl o off¥ TR |igdl AN T 2 |
TR At

enforces the code of conduct among members of Parliament.
Ethics Committee
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41. | u fogga 3ot § 500 3T & Jfatig W 250 diee 1 TR~ RN SI1a1 & | 10 Hehe § 5[ |
ScaTfed ST St Sl TUMET e |
1250
A potential difference of 250 volts is applied across a resistance of 500 ohms in an electric
iron. Calculate heat energy produced in joules in 10 seconds.
1250
42 | TR I 38k HeH TN | fquTRad e I @1 Hed § 7
T
The splitting of light into its component colours is called
Dispersion
43, | T3 B T SM o TIC I1gel < AR a6 ofter skt e idishan <Al fersrar 8
ATIHH | Jfg
The chemical reaction between quicklime and water to form slakediime is characterized by
A rise in temperature
44, Wﬁéﬁ—ﬁwmmwmmw%ﬁwmwﬁa@am@%
g7
Ao TRIE, FESiaciiNe Ui, eiees ufire
Which of the following are mentioned as comr:)\h mineral acid that are very corrosive in their
concentrated form ? \N\*
Sulphuric acid, hydrochloric acid, n|tr|c E!s’d'
XV
45, Waﬁ@ﬁmwmﬁmﬂwaﬁﬁﬁﬁﬁm%
e (7N
The amount of light enteriag the human eye is controlled by
Pupil -
46. | THE 0.12 T Ifawd €9 =7 ?
12%
The percentage form of the decimal 0.12 is
12%
47. | 437 3R 487 & = qOT HEATST h T FT 7 7
49
The number of whole numbers between 437 and 487 is
49
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48. | 2 TS AT LCM 3T HCF wT: 120 3R 6 7 | Afg I8 & Toh TN 30 7, 1 3177 @AM 71d
I |
24
The LCM and HCF of 2 numbers are 120 and 6 respectively. If one of the number is 30, find
the other.
24
49. Teh I I aifer 13 Tt & 37 3T <ieTs 2%@?‘1%,314@?@3‘%?«1?%% ?
3
32
il
The perimeter of a rectangle is 13 cm and its width is 2% cm. Its length is
3
32
2 cm
50. |afg12=1,112=121, @ 1112=7
12321
If12= 1, 112 = 121, then 1112 = ? \
12321
A s
51. Qaﬁmaﬁaﬁxmaﬂﬁg,@uﬁwj@wﬁﬁﬁﬁﬁﬁméﬁ%’ | Az 34
et § fore g efea g 7 ’ %
|t X \
Pointing to a man, a lady said “His mother is the only daughter of my mother”. How is the lady
related to the man ? . )
2%
Mother -
3 ,J
52. | 7:10 St TSt Sl G3T Bailel Bl IV FT E 7
155°
What will be the angle between the hands of clock at 7:10 ?
155°
53. | T 6 Y T hl 3 T SAHT TR e hl Y Y et 7, WY AET W 991 2 | HOH T HH § 7

g

The age of Ram is twice the age of Shyam and half the age of Sohan, Shyam is elder than
Mohan. Who is the eldest ?

Sohan
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54, | f=feafea @ @ gdeon fim 3@ Hifw |
IR
Find the odd one from the following.
Grapes
55. | foa &fem & e 7, gftept 319w @ @l ], STTclieh ST9Teh ¥ oie g TR 3TN fo iy o o9 @ | 9g
T gl BT A B 7
AT
Vinay is taller than Hansika, Hansika is taller than Abhay, Aalok is taller than Ashok and
Ashok is taller than Vinay. Who is the shortest in the group ?
Abhay
56. | 2025 fdacres fa SfteHRT § Afgen Thal w1 Rade feea Sfar 2
T femes
Who won the women'’s singles title at the 2025 Wimbledon Tenflis Championships ?
Iga Swiatek
57. | forw W wet 4 WA 1 TS AT 3wt stk SRT e B 2
LIS RIEIH
Which Indian city has issued India’s first Certified\Green Municipal Bond ?
Ghaziabad  {
N\
58. | 3 fames (4 AT o7 sﬁﬁTQ'I%H ‘FI'{ ﬂi@-«%lm efrTeRct WUg SehHITHeh ShI-3TRIH) et avieH
T BT HH-TT S 8 7
DIEfe
Which country is the host thLlBIMSTEC (Bay of Bengal Initiative for Multi-Sectoral Technical
and Economic Co- operat|9n) Summit ?
Thailand W
59. ﬁmﬁ%ﬁﬁﬁﬁwwﬁmaﬁsﬁ%mﬁaﬁa guft § 2024 1 ZIUTET R freT ?
U AR
Which of the following person received the Dronacharya Award 2024 in the Regular Category
for Hockey ?
Sandeep Sangwan
60. | TUsdr sferent fgem 2025 Ffalea o @ fore fafer st mamn Smar 2 2
24 S
National Girl Child Day 2025 is observed on which of the following date ?
24" January
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61. |30 -31SHadl, 2025 I “GIAET" T TSI T hal AT foham mam o 2
TR, TR
Where was the National Conference on “Good Governance” held on January
30 - 31,2025 ?
Gandhinagar, Gujarat
62. | 1 S, 2025 I TG TEHR § SHEHIST o7el | 3T Hieh fopd € et it =iwon 6y 7
1 B L
On January 1, 2025 which new district was announced by the Gujarat government, carved out
of Banaskantha district ?
Vav-Tharad
63. | 16 SFadl, 2025 ! USTE AYF S o Yag IR 3 G&T HRIHR et % €9 H fpud uguR
g foham 7
IR TG
Who assumed charge as the Managing Director and Chief Executive Officer of Punjab National
Bank on January 16, 2025 ?
Ashok Chandra y
64. | 2024 3ftres St frt fad R S T A fongy fagfermer 3 feam ¢
g attee forans i fraferemer o\
Which University led the preparation of thé 2024 Global Water Monitor Report ?
The Australian National University’ E\ »
3 R, \ 4
65. | 20 fedeR, 2024 F IRA TWHR I ghg iR eohra TS e afEismist & @i 3 fpa siaisda
HITGH < H1Y 500 HICTEH SeT o, W &aeiid T geien fohy ?
ufyreg foree S (ADB) ;""*
On December 20, 2024 the’Government of India signed a $500 million loan agreement with
which internationahefgafiization to support green and sustainable infrastructure projects ?
Asian Development'Bank (ADB)
66. | WA 1 HTE 3Affeiet FeH (MOM) s Waiftd feperm o e ¢
2013
India’s Mars Orbiter Mission (MOM) was launched in
2013
67. | JaUS 9T foad e T ST ® 7
29 I
International Tiger Day is observed on
July 29
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68. | 3T3ST fohett fop Toar & fR B 7
e
Aguada Fort is located in which State ?
Goa
69. | GerhaTSTt # Wl % HEM I o1 hEd & 7
fa
The playing area in boxing is called
Ring
70. | wft gy sl ferdren o1 R ShEl S § 7
Tt fasaes
A bill proposed by a minister is called as
Government bill
71. | 979 6 YT 7
A 3
The capital of Norway is
Oslo ~
7\ &
72. Wﬁw@aﬁ@aﬁw%ﬂﬁmﬁﬂ@wm ?
U X \
The first South Asian Games held in,which country ?
Nepal 2\
yw-“-‘\
73. @WWM%@%(OPEC)WW%T%% ?
o -~
The Organization of Petroleum Exporting Countries (OPEC) is headquartered in
Vienna
74. | qgel 7 foRd R TST T hIYael e 9 7 7
ufgem STt
Putul Nach is a puppet form of which Indian State ?
West Bengal
75. | SHIHUUR TRHI Sl WM fohd To0 B fRa 8 7
Kakrapar Atomic Power Station is located in which State ?
Gujarat
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5w (9. 9. 76 A W. . 80) : W H1 HewE HL 3R A fgw Mu yAl F W E | IR AE 2011 ¥
2016 T Ush hU-] <hl A 3T T hl eAdT 2 (S . H) |

Direction (Q. No. 76 to Q. No. 80) : Study the graph and answer the questions given below.
The bar graph shows the income and expenditure of a company from 2011 to 2016
(in crore Rs.).

A T AT 3 =
Income & Expenditure of Company
Qa0 S o o =
[=] ] (=
800 - = o = Lo
o o 9
7004 2 =
_ AT
600 2 o § § m [ncome
EDD T g "-1": ] g .
400 4 = o Expenditure
300 4
200 -
100 -
o011 2012 2013 | 2014 2015 2016

~N
! G 2013 & 2015 T Fet foha1 oW /(SRile e #) aifia i 8 2
’ 4

76.
50 .
What is the overall profit (in crore RSN earned by the company from 2013 to 2015 ?
50 A
AN =
77. | feu o ot # fowm aut & SHURPERT Afod A (FUS T H) TR 7
116.66 ~ 2)
What is the average prefit (in crore Rs.) earned by the company in odd years among the given
years ?
116.66
78. | Ut gRT 2016 H AT T, HUA G 2015 | i AW fohe wirera s1feres 2 ¢
100%
The profit earned by the company in 2016 is what percentage more than profit earned by the
company in 2015 ?
100%
0S5 12 MASTER SET




79. | afq 2016 I A H 2017 H HIHT 1 ATH 25% QT IR 3 20% &I, Al 2017 H Ho H1 =
(S & W) FT7 7
475
If the profit of the company increased by 25% and income increased by 20% in 2017 than
2016, what is the expenditure (in crore Rs.) of the company in 2017 ?
475
80. | 2011 2013 T FA 3™ 2013 H 2015 T He1 =7 A Tehe wferwrd a8 7
5
15§%
By what percent total income from 2011 to 2013 is less than total expenditure from 2013 to
2015 7?
5
15§%
ey (9. 9. 81 9 9. 9. 85) : 9 fean o ) 7 i @t 2024, 2022, 2023, 2024 3R 2025 H
fafe fuem o qey 3R afgen yfawfen 6t @@ gt © |
Direction (Q. No. 81 to Q. No. 85) : The bar graph giv\én below shows the number of male and
female participants in City Marathon in five years,2021 2022, 2023, 2024 and 2025.
e | g )
Participants in Marathon
2500 o % 7
- &
2000 g _
1500 & 2 =
= h iy
1000 5 " Male
o Female
500
0 2021 2022 2023 2024 2025
81. | 2022, 2023, 2024 T HUYH F W o It Teu! ! 3T F&AT T 2021, 2022 3T 2023 # 90T oA
areft afgenat 1 3fed T d U F1d HI |
41 : 28
Find the ratio of average number of males participated in marathon in 2022, 2023, 2024 to
average number of female participated in 2021, 2022 and 2023.
41 : 28
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82. | foru o afereram @i 3 Buem v form ¢
2023
In which year maximum people participated in marathon ?
2023

83. | 2026 H B T M W ATl et S shl TEAT T4 HIT, A 2024 X 2025 F WA o4 ot
3fied T < e | 2026 H Hat SfafieE 6 T § 25% 6 39fe 8 |
3875
Find the total number of participants in marathon in 2026, if the total participants increased by
25% in 2026 over the average of participants in 2024 and 2025.
3875

84. | UM W 9N oF ATel 3 qEY fawie it 8uem § 9 o areft siaa afgen sfawfien & s
1 FH R ?
550
What is the difference between average male participants in sfiarathon and average female
participants in marathon ?
550 \

85. | 2021 © #ueE o W o4 areft wigen gfaemfin % wfoydieit 2023 # AuYE # Wi OF ATl gEy

yfarfirn & wfaera & o o IR R 7 (aﬂwm\?aﬁaﬁﬁq)

7.6%
What is the difference between the pe e of female participants in marathon in 2021 and
percentage of male par’umpants in mariﬂpn in 2023 ? (Find approx. value)

7.6%

ﬁm(u.ﬁ.ssﬁu.ﬁ.go):f@é\ém@dﬁ 6 3HEA P, Q, R, S, T 31 U gRI I St
%maﬁmﬁ%|aﬁ§r’%aﬂxﬁ%ﬁqmqﬁ%wél

s
.
IACATHE | FAIE A : AR
P 5225 10:9
Q 3150 9:5
R 5625 7:8
s 3825 4:13
T 4875 4:9
u 4950 11:7

e : I IHTSAT haot g T AT BTt 3 Ahe T IS o 7 |
Direction (Q. No. 86 to Q. No. 90) : The table given below shows production of Shirt
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Company by 6 units P, Q, R, S, T and U in one hour. Refer the table and answer the questions
iven below.

Production | Total Shirts | Black : White

Unit

P 5225 10:9

Q 3150 9:5

R 5625 7:8

S 3825 4:13

T 4875 4:9

u 4950 1:7

Note : These units produce shirts in only two colors i.e. Black and White.

86.

fore TS & 70 et W18 31 Hhe S8 <hl E&AT & i o1 3L Hfehad & ?

S 3

For which unit the difference between number of black shirts and white shirts is maximum ?
S

87.

mo,Rﬁsﬁw&ammﬁaﬁaﬁw;@w%?
1850 4, Q.

What is the average number of black sr%ms broduced inunitQ,Rand S ?
1850 D

88.

TS U Ieaied Hhe Weh I g 318 P Ieqiied hict wiel 1 Hen § fohey sifowr 9 & 7
30% >
The number of white sl;i.[ts"produced in unit U is how much percent less than the number of

black shirts produced. in unit P ?
30% )

89.

FH1E S 3N T g Ic1fed it et shi T $h1S S 3R T gRT IATed et shl el |&AT ol fehan
yferd 8 7

800/29%

The number of black shirts produced by units S and T together is what percent of total number

of shirts produced by units S and T together ?
800/29%

90.

FH1EA1 Q 3 U g IcTfed et WIe1 ohl H@&AT <l $h1sal P 3R Q g ScdTfed Tthe 31t <hl T &
ST R R ?
101 : 72

What is the ratio of number of black shirts produced by units Q and U together to the number
of white shirts produced by units P and Q together ?
101:72
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Few (9. 9. 91 AW . 95) : FrAferftad STt 1 &9 & 9§ 3 i 6 I E |

H= feur o S § i StenT-stent feAt I dmeR, Wear it guer o ffda ST s sk
T % TR ) Fot T fomn T R |

e ; fffd ST & ) T % TR H pA T H I 3: 4 8 IR e SFH I @ H
eI s Pl TEAT 1 FAM 3 : 2 8 I Ffifq S, & 3t o W1 & el h pet G B A
4502 |

e ; Frftfa ST 1 % el o et wen ffifa 3 T % eIl <l el T ¥ 37.59% A @
3R ffHa & & U T o TR 1 ol FEA1 1 3 9 : 8 @ | FfHa STt T % R S Ha wE
ffifa & 1 o eIl Al ot wE@ F 40 U R

goar : fffa ST 1 % et B por g i ) 1 % T B pa T H 5/1197 9T 8
aur ffifa SR 3 3 7 o e ShY et HEA HAM: 150 31 240 © |

Direction (Q. No. 91 to Q. No. 95) : Read the following information ‘earefully and answer the
questions.

The given below paragraphs shows the total number of purple,.green and grey colour balloons
manufactured on three different days i.e. Monday, Tuesday,and Wednesday.

Monday : The ratio of the total number of purple to green eolour balloons manufactured is 3 : 4
and the ratio of the total number of purple to grey €olour balloons manufactured is 3 : 2 and
the sum of the total number of purple, green ade grey colour balloons manufactured is 450.

Tuesday : The total number of purple olo*r‘balloons manufactured is 37.5% more than the
total number of grey colour balloon nufactured and the ratio of the total number of green
to grey colour balloons manufacLu; d |§9 : 8. The total number of purple colour balloons
manufactured is 40 more than the tetalMiumber of green colour balloons manufactured.

Wednesday : The total numbe&%f purple colour balloons manufactured is 5/11" of the total

number of green colour balleons manufactured and the total number of purple and grey colour

balloons manufactured is .;gﬁ“gnd 240 respectively.

e 1 A # 1 S T e e w1 AR R S i e e wer £

91.
AT FTq I |
11:5
Find the ratio of the total number of green colour balloons manufactured on Wednesday to the
total number of purple colour balloons manufactured on Monday.
11:5
92. | gyar =i Fififfa Ha U T1 % TR I T@ AHGR Hi FHHT FA &R T T 6 TR hT T 6
fepe wfowma & 7
80%
The total number of grey colour balloons manufactured on Wednesday is what percentage of
the total number of green and grey colour balloons manufactured on Monday ?
80%
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93. | Hiretar =l fAfifa $e1 el i @@ 3 dmar S Ffifa B 3 1 6 TRt i ge % " IR T
I |
460
Find the difference between the total number of balloons manufactured on Tuesday and the
total number of grey colour balloons manufactured on Monday.
460
94. | gfe rar @l Ffifd For eI H T@ FUAR H G@ F 25% HA 2 3R Tear w1 Ffifa o S,
B 3T U 1 o oA hl H&AT &I 3TIIG U 4 : 3 : 2 7, A1 TeaR i HiHd o S T % TR
1 TEAT |G HIT |
240
If the total number of balloons manufactured on Thursday is 25% less than that of on
Wednesday and the ratio of the total number of purple, green and grey colour balloons
manufactured on Thursday is 4 : 3 : 2 respectively, then find the total,aumber of purple colour
balloons manufactured on Thursday.
240
95. | AR, HTIR 3R gUaR i Th T Ffdd 3 1 & e iy SHETHG 3THa @@ Aq1d i |
167
Find the approximate average number of grey colouf balloons manufactured on Monday,
Tuesday and Wednesday together. ~
167 ~ £
\ -
96. Choose the right answer from the fiyé Q%tiqns given below to frame meaningful sentence.
the/steps/old/man/fell/the/down‘ N
The old man fell down the steps:
97. | Choose the opposite word antoz)‘m) to the given word.
Remote ”y
Near 74
98. | Fill in the blank withdhe orrect option.
My brother : very hard at the moment, because some of his colleagues are
off sick.
is working
Direction (Q. No. 99 and Q. No. 100) : Read the following passage and answer the
questions by choosing the right option.
The Journey of a River
Rivers begin their journey high in the mountains, where melting snow or rainwater gathers to
form small streams. These streams flow downhill, joining with others to become larger rivers.
As the river travels, it shapes the land around it, carving valleys and creating habitats for
many plants and animals.
Along the way, rivers provide water for people, animals and crops. Towns and cities often
develop near rivers because they offer a reliable water source and an easy way to transport
goods. However, rivers can also flood, especially after heavy rains, which can damage
homes and farms.
0S5 18 MASTER SET




Many rivers eventually flow into oceans or seas, completing their long journey. To protect
rivers, people must avoid polluting them with waste and chemicals. Keeping rivers clean helps
ensure they continue to support life and benefit future generations.

99. | What happens when many small streams come together ?
They form a larger river

100. | How can people help protect rivers ?
Avoid polluting them
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IR TSI 31T Bt =T A, TGS,
foram aE-01 -udien/2025
TRk 3tgan udien (PET)-2025
ST FHell (AR TE)

giter fafer : 07-09-2025 qredt ; T2

graT Yool weg 8, 3T Tifel &9 2
IEn

‘Jugl gt I =fee || ug S fersiwor =1 Jergo 71
WEISED

‘I o fadm wee 2

freum
x

‘A 3T e 1 IR Hae 7 |’%%%@§m%,ﬁmﬁ%ﬁaﬁﬁﬁﬁmmaﬁw
fafau | : )
e s e P T 1\

A TR .
vl

R (. 9. 6 — 10)'o, Pt Terter 1 Toa T3 e SR 3 I AR |

RATS Aiec o &3 H Gayed dg1i=<ieh SATeAreT H1 ook g3 MY ‘Hrea-=e’ A1 ‘ST -—3me’
% AW ¥ YR @1 @ 7| 3USsy YAt H WeiAan @A WAy g tea Ares-wme’ @ e
g & AHeUE o &9 § W-Tagra’ 1 ufaser 1 1% 7 | Aifec 1 g9 9@ WE 7 W-Taga
e 3TN WIS o 3o shl fhAT o1 TR LT g1 e shi [ -a&q 1 Ffiehol Ta
forvetoor Jeqa a1 ® | H1eT T WG dcd hl GAiS A YH b W-Tagd & =R 4 U
3fea feem & wrer-wme w1 M TGRT | WRA & Wad] SERT § § e 4 W-fagra & fafim
T WA h! foeqa e i, foniva: W-Fsafa i q9en & Tt Wg Aleaie, THh, HERI,
FINEE T, UfSaus ST SMfG 7 -3 WA Hd i UfaseT I | 3T FSeieht WIHE, IS,
TUEl AT AT 3 T o TIH T HI i ITCHT o I H RN hi JTIsaT i | STABR o T&-d
H IFeh! GO wgd A o,
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9 39 Tied’ & TATHETE o €9 H U8 Rd o | Wad 1 H 9 o g1 Afd-wweE’ Hi, Fak &
N Tehifad TEICE’ H qUT A< 61 gRI ‘@ aueE’ 61 yfasel g8, e e ),
Tehifad TE AT 1 h1ed h1 T o &9 H SRR A1 | &5 4 37 7eft & 3faa S 1 wgeaqot
A §U ‘ST geer’ 1 ST 6 | Aee, fovey, qfeaus Sy e Smenarst 4 aHs
% I HI SN T 30 HA-IAT T § W, IR, O, @, awifw anfe aft =
ICECERCDI

Ity Tl H YTy A1 WagH gr aa Trea-wme’ g fSrem wifecy & Arere % ®9 ° forweh!
gfersst 1 g 7 ?

W-Tagm

7. | YRA & Fadi e 3 fowa: I TEET I AR g lecte, peh, VSR, T T,
GfEaUrsl ST 3Tfe 3 399379 Tas Ad <h! Tfasar <t |
w-Fwafa

g, 3, Uel ATfG ST 4 T o TIM W H1ed 6l AT &9 4 fergehl ufsar i ?

W?ngrrﬁamgm‘ﬂﬁ—m’ﬁ,?ﬁm%@‘mm’aﬁammaﬁqmmm
HyeE i wfoset g8 7

R
et \/;::,\
10. | fre i gvem 6w B AV

&g

{n™

o (1. . 11 — 1), Fitfia e 1 et 1 e et % 3w A |

Jurad & 1936 NIRRT e UETi SUE R | SUH TR SEE % 99 H 2 |
FIAHSITER S 1 TRIEd Gemss i TIHAR IHTad] i R @efd §U el & o 39 &
I B3 | QI | ST OFTE 309 81 T | TS SIS o WTHeh HeveR 148 i 1 3 | §9
gell 8 | 98 It 8 T 3meh fUan suest foamg s & 01 =8d @ | foheg T IR TR 1 g
92 T & TIHAR | Trud fodtg it @ | TRt ST 1 W9 T W@ g¢ 98 FHAT o E1Y S-S
A 8 3R FHAR ¢ o I JTaERyl s H T BT g | STATHHR 4 39 daen fata o
2 | I %l TFe o IO W G TRl ot @ | e g e ey bl U B § |

A 3UITE H AR UTH g § AUk ged 3R gigHe 7 | ywmEdt 9, {6y 3t S gew-umsi
&1 U TRl 1 T gedr Ud dRaT | Il @ | WY @ F TR gaAw o dsol, IgRaT, <
anfe @ fafed & | wwrert <l TReRT B W ot 3T gorT § IHAT 1 A SAfeh gWEeTett B | I
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1 HAfodca avft & fofu srgeheiia 8 | amafa difeg & 3ae 39 o fohg 3t faamg 7 &1 = |
i Ut # fey oft 1o v ey T wEdt B | 30 g9TEdt 3R AT % A 3R TErfd B 1 3T
T A | FE50T 1 G ST 8 | 36 Toeiver] § Feifud foan T g |

11.

‘gurerdl’ fermehl 91 & 7

wRver foig
12. | gaTet T IR AT Y AWE TIHIR 6 a1 forame et |
BE]
13. | Tt fohaeh ToEieR o 3TEEt T HIE TERAT &t 7 7
i
14. | 38 9= § 9Tat <l TR B4 W ot 3Hent ot o feheent afe arfes gvmammeft § ¢
Rl
15, | IGT FREE I LAt B 7
g ¢
16. | féqor wfSrn A ugell T wvan Sig-dt off ¢
FSUT Gl ,
N\
Which was the first urban civilization/in Bguth Asia ?
Harappan Civilization X
17, | e w m R R 7 N
1,028 WH A
The Rig Veda is acollection of how many hymns ?
1,028 hymns -
18. | 9§ 7 §:W@ ¥ gfad W 79T UgSAT 3UCH HaT e AT ?
ALY
Where did the Buddha deliver his first sermon on deliverance from suffering ?
Sarnath
19. | 39 o § 249 3 3ifem oo o8 AT ST @ 2
T HETER
Who is regarded as the 24" and last Tirthankara in Jainism ?
Vardhamana Mahavira
20. | A 997 T HEATISH I AT ?
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g |
Who was the founder of the Mauryan dynasty ?
Chandragupta Maurya

21.

IRd & fohd TS W SeTRIStt g hestl AT foifest Stmshmvr o1 werd afaa &k o 7
rqYy
Which State of India was annexed by Dalhousie was the most unjustified act of British

aggression ?
Avadh

22.

et qotd: Teh 3TTieh 3Tigre o wifeh
TN ITT hi TETEH 2 hi T&H

Swadeshi was essentially an economic movement because
Intended to give impetus to indigenous industries

23.

qd § fraeiftheret SIERE 1 9d7 I o1 7
eciks e

Who was the leader of the Theosophical Society in India ?
Annie Besant ?

24.

T e 40 N
16 3T, 1946 @

7\ &
Which day was observed as “Direct Ae 'Bn‘D\ay” in the Indian Freedom Movement ?
August 16, 1946 \/ >

25.

N\Y
e gee fohe ay Tt TR e ?
1945 CA
Simla conference was cofiVened in the year
1945 : ’

. .

26.

@mwﬁ%muﬁww%ﬁwwﬁ@mﬁiww%?
AN

<

What is the term used for underground layers of rock that store and transmit groundwater ?
Aquifer

27.

Wreq H SHeR g T EE FH w7
TR g1 3R et v ferereia e

How do animals in deserts conserve water ?
Being nocturnal and excreting concentrated urine

28.

HHTSEE 30 § hiH-91 WS 91T Sd1 @ 7
offRam
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Which mineral is found in monazite sands ?

Thorium
29. | fmafeiRed § @ 1 IR AET S gIfaa S e ¢
Suder Asht
Which of the following affects Indian monsoon ?
All of the above
30. | o ew1 < SEen forfire o <amues YR BiaT ®, 9@ Sved: BidT1 @
I TH R
A country with a wide base in its population pyramid likely has
High birth rate
31. | Ui Sy Hifa due § 1 TEqa I T o |
28 T3, 2000
The National Agricultural Policy was presented in the Parliament on
July 28, 2000 A
32. | fsft wufa =t @t o 3t smifies sl o1 s fREr T ¢
AT 3R Ted -~
Who considered private property to be thﬁQus'se of all social and economic evils ?
Marx and Engels é N
L W 7
33. | et sfioi-3eiteh Srefieh! SRR T & T S |
Eha shifdl ,
Water Seed-Fertilizer techrﬁfﬁ’g;/ is popularly known as
Green Revolution '}
34. | ¥ 31 figEam AT YRA 1 R Sob B TR fRa TR o1 7
1770 '
The first bank of India called the Bank of Hindoostan was established in
1770
35. | UNCTAD &1 ot & |
Expand UNCTAD.
United Nations Conference on Trade and Development
36. | WRd % @faa™ &1 9T — | 2|
e 3TN 3qeh! &
Part — 1 of Constitution of India is
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Union and its Territory

37. | Gfaum™ & 3= 44 H el T § foF WG % QU & § TS ARl W foru qufera &
T AT HAT |
T AW wfgan
Article 44 of the Constitution states that the State shall endeavour to secure the citizen a
throughout the territory of India.
Uniform Civil Code
38. | VR TEd=dT o UvETd AHCIReh feht hrishn i yeaTd Rl
1952
After Indian independence, Community Development Programme was started in
1952
39. | Wit wfe % 3TeSE 23 3N 24 % WL § AT I HNA § 7 7 |
9T % Reetrw s1feremr
The citizens have been guaranteed the through, Articles 23 and 24 of the
Constitution of India. 3
Right against Exploitation
40. | Rl "= % 3ge8e 170 § a1 T 2 5 g wn H srfekan Hew 3N
=[H 60 HGH B T § | { N\
500 Oing ‘ﬁ
Article 170 of the Indian Constitutien‘states that State Legislative Assembly can have
maximum members ar%%ninimum 60 members.
500 )
: 7 :
41. | U de o qR 1 Ay 2xA0231H & | afe 3Hehl wiemg 2 WX 2 31N gHh! JTTRY F1E HT &T6A
1.7 x 10 m22, o1 Wi I SRHdT 71 2 7
1.7 x 10-8 3Ry
A copper wire has a resistance of 2 x 102 ohms. If its length is 2 m and its area of cross-
section is 1.7 x 10 m?, what is the resistivity of copper ?
1.7 x 108 ohm-meter
42. | 19 SR 7
15
1 @hs
1 Watt is equal to
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1 joule
1second

43.

9 WTehfereh g () T F iAo & WY Jordt 7, df 1 ITE S B 7
HIE SEHTFATEE 3R ST AT

When natural gas (methane) burns in the oxygen of air, what are the products formed ?
Carbon dioxide and water vapour

44.

S fepeft 310t 1 ST § el ST @, o SeH SUTRd grsgie fhH w9 H 31T Bl San 7
GATCHh €U 8 A SEEISH 3T (H*)

When an acid is dissolved in water, the hydrogen present in it separates out as
Positively charged hydrogen ions (H)

45.

STE YOT TIATIT % TSt §¢ T&T BT 8, A 3 ek qeall hl STEYAhAl/ERT & | T AT J Tvh
e YeH HLdT & 7

e

When the foetus is growing inside the uterus it needs nutrfents. Which part provides these

nutrients ?
Placenta @ N

46.

20 fire e 92 &1 fopaT fdwa 8 7 b A\

33%% X\

20 minutes is what percenté)f‘ilt})ur ?

33 2% ~ @
.

47.

4 3 1 T SIS HE S 9 W yuid: fowrsa B, 9% B
1008

The least 4 digit number which is exactly divisible by 9 is
1008

48.

Ife 3x—14=4 @ x =
6

If 3x — 14 =4 then x =
6
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49. | ws i 3 ¥ 1 TeM W %tﬁﬁ'l?ﬁ%?:ﬁ'(%(ﬁ ssﬁsﬁmgg‘raﬁ% | @ g 7
S
12
A fraction becomes % when 1 is subtracted from the numerator and it becomes % when 8 is
added to its denominator. The fraction is
S
12
50. | T 1 3T T T IEH 3Gk 8T H O (U & | ITHI A T & 7
9
The square of Meena’s age is 9 more than 8 times her age. What is,her age ?
9
51. | famrg 3 fosmer o6t 3199 foar 1 ueht o sheild W18 & o2 o €9 _H usnfhan | fomrg =1 fosmet @ @
Y B 7
ik o
Vinod introduces, Vishal as the son of the only brother of his father’s wife. How is Vinod
related to Vishal ? "N
Cousin N\ \‘»
7S\
52. | g o w1 ggen fed gUam g, aﬁwxaﬁé“ﬁéwaﬁwaﬂﬁq—mﬁqm ?
A}
N\
First day of a leap year is e‘q{jes'day, then what day of the week was it on 315t December in
that year ? »
Thursday : W
Ty ]
53. | N, M ¥ 31fues gigam g | M, Y S gfgum 78 & | X, Y @ 31feres gfgam g wifer N o gfgam
T 2 | weft °§ gew At gigam HE E 7
N
N is more intelligent than M. M is not as intelligent as Y. X is more intelligent than Y but not as
intelligent as N. Who is the most intelligent of all ?
N
54. | fr=fafiga @ 9 e fim 3@ hifse |
I
Find the odd one from the following.
Tasteless
55. | frfaifaa @@ Jaen @ woq g (?) 1 3wy foshed & aaa |
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3,3,45,9,225,7

67.5

Replace the question mark (?) in the following number series with suitable option.
3,3,45,9,225,7

67.5

56.

e froe wog Saaume AT (3mEistt) gru fassfia m ek 2 fopd s st fimmsat @ 7
FRR-TUE-HAIE Ui-3eh Mgee faEa
What type of missile is the Nag Mark 2 developed by the Defence Research and Development

Organization (DRDO) ?
Fire-and-Forget Anti-Tank Guided Missile

57.

Tsee feren smifuetics AR W giw-Afafee aémfi % fog smve oit wfaefier wwia (CPTPP)
1 12 af TG HF S 7

15 feEer, 2024

When did the United Kingdom officially become the 12" member of the Comprehensive and
Progressive Agreement for Trans-Pacific Partnership (CPTPP) ?
December 15, 2024 ?

58.

55 i fam i w= a1fies 3%, 2025 Hel FAFMI ! TS ot ?
T -Feied, fergsrets o'y

#

Where was the 55" World Economic@n Annual Meeting, 2025 held ?
Q

Davos-Klosters, Switzerland \

59.

N ; . .
mﬁasﬁxm%uﬁ%ﬁﬁm}%@aﬁm 2024 § ATyehRTRE TR W G T IR T T
ueft =ty fepam e A s
o8 T
Which bird, symbolizing power and strength, was officially declared as the national bird of the

United States of America in December 2024 ?
Bald Eagle

60.

el 2025 |, Uften! g WA 3R gfeaur TRET U ueret & fou Sutenst 3R HETyEYs & €9 O
forar fergerr fopam T 2

IEIRER

In January 2025, who was appointed as the Vice President and General Manager for India

and South Asia Beverages by PepsiCo ?
Nitin Bhandari
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61.

fopa T 7 31 fedeR, 2024 F1 FL oI SIS (CGWB) gRI Hehferd a1fies yorel Toreran faid
2024 TR i ?

e FeTvtierd AT

Which ministry released the Annual Groundwater Quality Report 2024, compiled by the

Central Ground Water Board (CGWB), on December 31, 2024 ?
Union Ministry of Jal Shakti

62.

sfeom o oo tiiAmgee (38A) 3 Sfafte § wH-H $Oc ghaaryde IS, S STaie-3nemid
HY SEYM § T He T TeR Tl g8 7
e

Which crop did Indian Space Research Organisation (ISRO) successfully sprout in space,
marking a milestone in space-based agricultural research ?

Cowpea

63.

fafeem sraisfa seumme el fa g 2

A

Where is the Vizhinjam International Seaport is situated"?
Kerala

~

64.

2%’
[EEAE ICCW—%@@QWQVE) 2025 1 Rgame Sfar 2
afaror anhent X\

Which country won the ICC Crické\WorId Test Championship (WTC) 2025 title ?
South Africa A

.

65.

o TRERT R T AT e 2025 1 o 2 7
“‘9fH SR GEUTTUR i \eTTERI ol 19 3370 |

What is the theme of World Day to Combat Desertification and Drought 2025 ?
“Restore the Land. Unlock the Opportunities.”

66.

et vela ek fpm o d f@ 2 2
AUt

Dhaulagiri mountain peak is located in which country ?
Nepal

67.

i1 f=feiliea § & fopg qo hi gg1 @ 7
i
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Krona is a currency of which of the following country ?

Sweden
68. | TTgaTeht fopd TS T Wi T B ?
TGS
Garhwali is a folk dance of which State ?
Uttarakhand
69. | frfafaa # @ fpa w~a 7 fgoeda faummss 7€ 2 7
RUSIIC
Which of the following States does not have a bicameral legislature ?
Rajasthan
70. | TSI netfueh foee s T ST 7 7
23 S[d
The International Olympic Day is observed on
June 23
71. | eSSl FEE (APEC) 1 HEATe e € 7y
The headquarters of the Asia-Pacific Economjp\Cooperation (APEC)is in
Singapore _§ 4
. N N\
72. | SiefaR ST hal fRud g 7 é % "
MR XN\
Shalimar Bagh is located in \
Srinagar o\
73. | frfafea & @ s T ftrg nysHt fEer § 7
WA ST -
Who among the following artist is a famous Madhubani painter ?
Bharti Dayal
74. | YRR TS W G99 TE fRE e # A g 9 7
|
The modern Olympic Games were first held in which city ?
Athens
75. | @mgn v ek Tee waEl {8 7
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AR

Saha Institute of Nuclear Physics is situated in
Kolkata

e (3. 9. 76 — 80) : Tr=feifad et o1 eamgde 318 S 3T = fou T st & I < |
e T uTE =T Ut 3T 3T < gRT did fohT U IWEl <hi T e | |

Direction (Q. No. 76 — 80) : Study the following information carefully and answer the
questions given below.

The given pie chart shows the number of satellites launched by five different countries.

IumEl il el GE&AT/ Total number of
Satellites = 12000

RS

Ireland

Belgium
25%

y

76.

qummﬁggﬁ%mummﬁﬁmwmm%?
83.33% ~ >¢

-~
The number of satellites launched by Belgium is what percent of the number of satellites
launched by Norway ?

83.33%

77.

FHTEST G V&TIG GEY 3R o IUUET <hl T 1 U 3 : 27 | HATST g FaIfva TR 3uwral 6t
AT 1A HIVT | (hadl TSI GRI T&TUT Gy 3R §9R 39E R fa=m )
720

The ratio of the number of remote and communication satellites launched by Canada is 3 : 2.

Find the number of communication satellites launched by Canada. (Consider only remote and

communication satellites launched by Canada)
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720

78. | YR g1 vaIfUd Iugl Y HE ARl gRI Yafud SWiEl il T ¥ 20% A 7 | 9Hd 31K
TR gRT Yeifid Suwal sl T & sfie 37a qid it |
1680
The number of satellites launched by India is 20% more than the number of satellites
launched by Ireland. Find the difference between the number of satellites launched by India
and Romania.
1680

79. | 3RS, sfesaw 3R Afd grT v&ifud Il <hl 318§ Fd shif |
3000
Find the average number of satellites launched by Ireland; Belgium and Norway.
3000 9

80. | Tt g WA Seaeh 3Tk Y Teieh SurEl VWA 1 I 7: 8 7 | YmriET gRI WA Hfy
et e <t s A i | (e e g AR Sead i B ded 3R w fm
*) D
640 XV
Ratio of the number of net\/(dnlgahd agriculture related satellites launched by Romania is
7 : 8. Find the number, of. 29riculture related satellites launched by Romania. (Consider only
the network and agricuere related satellites launched by Romania)
640
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e (9.4. 81 - 85) : Ffeifad SR 1 amYEs 31 3R Fafra JeAi & IW < |
frafafea - frefafaa avt % daom fafi goml gro s=ht 8 vt i $a @@ & a) F 2
&1 gfaffieg a8 |

Direction (Q. No. 81 — 85) : Study the following information carefully and answer the related
questions.

Following line-graph represents the data regarding total number of shirts sold by different
shops during the following years.

4600
4200
3800
3400 -
3000
2600
2200 -
1800
1400
1000

2021 2022 2023 2024 2025

gHHE A wFH B gFH C
. Shop A ShopB = ShopC d

2024 1 THH A ¥ = TS vEl I o T 1 2022 .gHH C T o= TE WL hl HT T@ Y

81.
SHATT: AT T 7 Pa
ra\’
4:5 " N\
. . . &, . .
What is the respective ratio of total nmhber of shirts sold from shop A in 2024 to the
total number of shirts sold from Shop C in 2022 ?
82. | 2022 Tt § TS gHMI AR TS I I PHoT T I T R 7
3200 X
What is the average of total number of shirts sold from all given shops taken together in
2022 ?
3200
83. | 2023 % ghM B 3R C & St TE wel sl oA F&AT 2025 T I8 gbHl d 9= T W H oI wE@

1 T fhaT Sfowa & 7
121%

Total number of shirts sold from shop B and C taken together in 2023 are approximately
what percent of total number of shirts sold from same shops taken together in 2025 ?
121%
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84. | 2022 3 2024 H g B & St T8 Wt hl Pol TEAT 3R I w0 Ay T gobe A T S T 3Lk
#1 HA T o= AT IR 8 7
1800
What is the difference between total number of shirts sold from shop B in 2022 and 2024
taken together and total number of shirts sold from shop A in same time period ?
1800
85. | 2021 # @fi & E gMl & 9=t E Wt A Pt @ 3R 2023 A wft < TS gohHT T St TS W
Sl T ol SHAST: U T 8 7
35:43
What is the respective ratio of total number of shirts sold from all given shops taken together
in 2021 to the total number of shirts sold from all given shops taken together in 2023 ?
35:43
39 (9. 9. 86 — 90) : dTfetehl &1 3188 . AR A= feu 70 w991 & IR E |
HUA XYZ A Th HrEwme ARG 1 | Tl sl § weigen o g defihd @ 6t den 3R
59 3 wfEel 1 S fean m # | <
Direction (Q. No. 86 — 90) : Study the table aqd answer the questions given below.
Company XYZ organised a worksth., Nyinber of people and ratio of male and female
register for a workshop from different Qj.t]i’es., are given.
UV memaie
Eﬁlﬁmﬁfijjﬁq afen @
&/ City GsiUWiRegister 313U/ Ratio
ffz;,WO"kShOP of male and
-~ female
a"lFB;/Bangalore 1200 5:7
faeeh/ Delhi 950 11:8
1%/ Chennali 1800 3:6
/ 2500 12:13
Hyderabad
9T/ Patna 700 4:3
ARV /Nagaland 800 5:3
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86. | SIefE 3R feoefl @ Ho1 Afgaln WX sl T 3R T 3R ATTeIve | A To¥ e 6l 981 &
o T AR B 7
200
What is the difference between the total number of female register from Bangalore and Delhi
together and the total number of male register from Patna and Nagaland together ?
200
87. | =T, geane 3R fooeft & wrfvmen & forw usfiha @rTi i 3ftea @@ = 7
1750
What is the average number of people register for workshop from Chennai, Hyderabad and
Delhi ?
1750
88. | geUETe # Aigen UTET 3 wedT H gy Ut < &g shusl: JJufd 1 & ?
13:4 K
What is the respective ratio between the number of female register in Hyderabad and male
register in Patna ? PN ¢
13:4 ’ ‘;\
N N
\ A2
89. Wﬁwﬁwﬁwm@@@%mmaﬂwmm% ?
166.66% TN
Total number of male'register from Bangalore is approximately what percent of total female
register from Nagalahd?
166.66% ;
90. | ST hl HigeAT Joob > 200 B 3 T&W oo * 250 B, @ I=Ts | w1 = ferart Tfdr il < 2
*3,90,000
For female, fees of the workshop is * 200 and for male is * 250. Then how much amount earned
by company from Chennai ?
*3,90,000
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&9 (3. 9. 91 — 95) : AIfetehT 1 e L 3 i fe MU yeai & WG |

TIfCThT 5 ITCT-3THT &l H ol WSSt hl HE&A1, HAGH 7 i el Hagrarst ol Yfawrd 3R
HagH i dTel et SAfaadl § § wfgenati =1 yfowra guidt 2 |

Direction (Q. No. 91 — 95) : Study the table and answer the questions given below.

The table shows total number of voters in 5 different towns, percentage of voters who do not
vote and percentage of female out of total persons who have voted.

et TeAgTanat | |
e A A At e TR
&/ el wagrat/ HAQTATSAT < i afwE/
Town Total voters W/Percentage Percentage of
of voters who do female out of
not vote total voters
voted
A 30000 15 S 30
B 13500 20 N 45
Ya\.
s
C 28000 18 v 40
& < \
D 16000 \ 12 60
o~
E 32500 £ 6 40

e

91.

& A, B 3R C ¥ Fot fehcdd @FT 1 TaeH fopam 8 2
59260

What is the total number of people who have voted from town A, B and C together ?
59260

92.

& B ¥ UAgH i dTel eI 3R Ofgetati S 39| 991 8 ?
1:9

What is the ratio of male to female who have voted from town B ?
11:9

93.

Y& E 8 HAaeH i a1t Jeu! 3 I8t B ¥ HaeH iy drell Afgenaii i Gean & ot @ A g ?
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13470

What is the difference between number of male from town E who have voted and female from
town B who have voted ?

13470
94. | & A, C 3R E ¥ HagH 7 A dTel A3t shl 3N Tean 1 2 7
3830
What is the average number of voters who have not voted from town A, C and E together ?
3830
95. | afe et B @ waeH 7 S aTel gesi 3R Afgeraii %1 U 504 2, 9 I B ¥ oA To¥ A
3R Pt AfgeAT TSI T 3T T & ?
124 : 101
If the ratio of male to female who do not vote is 5 : 4 from town.Bythen what is the ratio of total
male voters and total female voters from town B ?
124 : 101
96. | Choose the indirect form of the given sentence. \
He said, “ | shall do my best .
Y N
He said that he would do his best. "\ &
97. | Choose the opposite word ( antonxm)t\oﬁbe given word.
Victory
Defeat ) \
A
98. | Choose the correctly speIWord
Gracious -
Direction (Q. No. 99 and 100) : Read the following passage and answer the questions given
below it.
Reading is more than just a way to pass time — it is a powerful tool that opens the door to
new worlds, ideas, and knowledge. People who read regularly often have stronger
vocabularies, better communication skills, and a deeper understanding of the world around
them.
Research has shown that reading fiction can improve empathy by allowing readers to
experience life from different perspectives. Non-fiction books, on the other hand, help
readers gain information and understand real-life issues, history, and scientific concepts.
In today’s digital age, many people spend more time on social media than reading books.
However, studies suggest that reading for even 15 to 30 minutes a day can significantly
improve concentration, reduce stress, and boost mental well-being.
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Whether it's a fantasy novel, a historical biography, or a science article, reading helps to

develop the mind and broaden one’s horizons. It is a lifelong habit that benefits people of all
ages.

99. | What is the main idea of the passage ?
Reading helps improve vocabulary and knowledge

100. | According to the passage, what is one benefit of reading fiction ?
It increases empathy
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IR TSI 31T Bt =T A, TGS,
o= wn-01 -udien/2025
TRk Jtean udien (PET)-2025
I el (AR Te)

udften fafer : 06-09-2025 aret : o

S foroor wree fersiwont <R fosiwdr sard &, 3§ % HaEd 8 7

BIEN L
2. | ‘0 B FEH % FHEHHL DH 8 7
g
3. | 3UHR HI G IT B FEd & |
A -~
4. | ‘ST qCHE I B, IHBT dEH I N\
= R
5. ‘W’wmw%,ﬁwﬁ&m&?ﬁﬁaﬁwwwml
IR

{a™

ﬁém(u.li.e_m);ﬁtr@gamaﬁw@ﬂﬁﬂﬁ%waﬁql

St e SN A A A s ) A e e e s
9 TS 3I3-GH SICING 1 GHAT T8I T I8 Sifh 3T TE &<t 841 3 | UEh feufa o g0 shafan
M1 98 T =118 3R g 3h1 R A13Tl i Siet 9d i o fo7g Iia e =nfee |7

Ig G & BTEl WO W el EH e wuft | i i 5 gAR Tica-Tdlcd 1 heiiehd B,
3O vES B AT i gmert |7

HERTEd U1 3 BRI <l 368 €AW g3 | 3R o fifvat & 7 | 32 hafen 9w ugd forn |
IR AT 4 AH-FE T TG TUT AT 1 TsaieTd i el gadt Amiar stefi | fepamn greor 3o
AqT-gR AT 3R Fardt w=md ...

TS $aTt HAT 3 hET- T @1, 7H A S - § = vaw wedt € 27
“‘maieT <6l & % o |

I EH G AT g3 Al W Hehdhi

3F T 7 ITEHR H FHET- T Tkl &, &N BT aH W TG HA gL AT B | T E 3! NG & W
39 Shfed €9 § e S & off e B, d9... 7
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“3Mg "’ AR BT A FEl - “TAG T A g 9eft B | fere, A @, 7 w9 S I W I g 17
T ot Tk AU H IS @ e - W IG I 98 HU G | I8 Ig Toha T HIH BT B, feRaHT
Sived a1 B, 3O fehat GO 2, 1 AT 99 & T @ "ot 77

“Ig I WH W A A @ IR YW I W W | A9 fomitg W faufa o &% 7, 36
HH-TATel % TG S @ §; U8 T Y9 I 91d 1 g & H HI 910 ARG Tt 7 | 31eft
ok g 1 91 KU, TF-TER H 91 KA, IcaT h Id U | §H ST g Bk A R Bl
ffyea s @t |7

B HaTeh 3T HEREd STafg o1 TgTeht Ig U1 H I <l &1d i ofTd & 7
HafE S

Tsh HATl HAT ST A g O O F T gt 7 7
T T <R - § ol v R S 2

HEREA 3R 3 TGRSl F1 Ja gaf ?
el ETEt Uit TE W gt o oI TR @ S R |

FaARt w1 TS F g h & A well A R P Y
IR g T THA ST Ushe WH W S et gift, SFa A o fore |

10.

8 Ig I 9 HU T W‘ég@%’ﬂmﬁﬂ\sﬁl%l 39 9 i fera fohe® et 7
T gt A ot o

ﬁém(q.a.11_15):ﬁm%r%ﬁm\ﬁwq§@m%waml

‘% HT HEN W I o 1§ag\vrmqﬁaﬂmé@@mﬁéwaﬁmwﬁ§é
e ﬁw@m@‘wﬁﬁmﬁ@maﬁgmﬁﬁm%ﬂn%waﬁmm
Tt W’a‘qarrga?r‘aﬁiagahaﬁwﬁmng, ‘wgl 7 | 7 31 oI, qF Fo @
M S | IR T WH BT YA ITh! THS H AT TN Al I AOET TE W IH THSHL T B
T |

T Hish W B TR A0 Jqt i 3THaR H ¢ <d ¢, B AT @S q@d ®d 8 | H q w0 H T
fre 7 M g@ IEA TR wotot A @ forn ? &S 9 | #Y S gaen € 3@ feam | gden
zafeTe 3Eeht yeeit & |9 e fop g3 wrom o fo6 & gawsg & e w1 £ | foeht wa =i e fm A
A foh ‘% SO TEUA AR g R T h WY ISH AW Bl G -dH G JRERI a1 e & |
39 GIAT o S 99 3N Tk 98 W el N al §4 IR 3 1 Pl o= Ragewr fem iR
o, il 2 suh Sidl d Big @ | W F IR Hie B A ¥ W 2T 6 97 TEA Bl
Helsl ¥ fo9er 8 | B S gausg 9 ATMH e, a1 gaeTl &t 7 SgHT a1y |

W g W e AT H U R | 35k 3 W T A, Skl fie % gviea™ % @9 faeg Yok &
-8 el ATHIIAT hl Tehg, T T Belshdl I8 TEHH T8 3 98 Wafea amil |

JF4

2 MASTER SET




e, ‘o1uft geg T M F 3T N Thew g A T T, S ST T WIS G @S |
et 1 3G @A B 1’ 3 & IS S HEE | ol I AT 7, 98 G AU o a1 T oo | 3™
g3 # I TASH IFE 3T T @ @ | B A 52 Feiy faeamerdt g # | 9 3ea, void %
T3 g3 Sierd & | 3 9@ A iy, Fwais g8 € fFeverar 8 | 4 T fiwder W@ 8 | 9 AW
T I @ 8 3N I YD, 1 o Hall, FHorshal A @ g |
M. | & ‘& 3 ohge St &1 3194 918l § STeheT a1 3= (hd TG 1 TgHT g1 7
EIARTEE <ht T3 | STehg HiW o Jaet <hi A1g 3T |
12. | et Ud 37 Tk i 3 ‘%’ o aR § a1 HaT AT ?
‘@ A T H A T g St R A oft |
13. | fooell U@ ‘&’ el W 3T g3 o1 ?
U TG |
14, | 99 ‘% w@® S 8 HeH ST 8 a1 g St 3 36k A [ ?
TG St = IR 370 A7 o Raeerem ﬁg?ﬁaﬁgaﬁmﬁaaﬁﬁ‘aﬁam |
15. Wﬁ%@ﬁﬁm&mﬁmé%ﬁwﬁ@ﬁéwﬁﬁ ?
FHAFTAAEIE | t‘ﬁ
16. ﬁmﬁ@aﬁﬁﬁ—ﬁmm@?ﬁﬁm%mz@nﬁaﬁnﬁ%ﬁ ?
Fﬁa (;«\
Which of the followifig metals was not known or used by the people of the Harappan
Civilization ? -
Iron
17. | Sicr Iufe wree &9 4 fraferfaa & & fom amsm 1 defifa st 2 7
FaTer, TERY 3R ARy
The Chhandogya Upanishad clearly refers to which of the following ashramas ?
Brahmacharya, Grihastha and Vanaprastha
18. | fftees o fopm wmr o §g i arafes frend 8 2
ga fUesw
Which part of the Tripitaka contains the conventional teachings of the Buddha ?
Sutta Pitaka
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19. | 23 9 diefeRt UvdT | ST Uelieh T B 7
qiq
What is the symbol associated with Parshvanatha, the 23™ Tirthankara ?
Snake
20. | ¥gemA & AR freere & geeia sier &1 Seora 7, e faufor forg @ simees & smeeerat |
3T o1 7
EEUEIC]
The Girnar Rock Inscription of Rudradaman refers to Sudarshan Lake, constructed during the
reign of which Mauryan ruler ?
Chandragupta Maurya
21. | ‘i fewedl 31T sfean’ qwae fopdeh g1 SRRIRT <t 18 off 2
R.E.
The book ‘Economic History of India’ was published by
R. C. Dutt
o\
22. | “9Rd U e B’ o T H fohd ST Sieg
bl
FETHIE Tt 3 t‘ﬁ 3
a X \
Who is known as ‘Grand Old Man,of\India’ ?
Dadabhai Naoroji oA
23. W@ﬁ?ﬁwwm%mww ?
T 1942 X
Quit India Resolution was passed in
August 1942
24. | g9y 9% S 1 MR sl i i Tegegal fhe |t ?
T ford e
Who handed over the Presidentship of Indian Independence League to Subhas Chandra Bose ?
Rash Behari Bose
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25. | ‘BiaE sAfer sl €A fohee 61 7
gum og S|
Who founded the ‘Forward Bloc’ ?
Subhas Chandra Bose
26. | fossa ® sEgA T H el AT & |
T
The Brahmaputra River is called in Tibet.
Tsangpo
27. | frafafed § @ Si-a1 U9 ot o 3Afd-cred 61 ge8 it T 1 A HE R 7
CEIC]
Which of the following States faces the most serious issue of greaundwater over-exploitation ?
Punjab
28. | Yfirearht et Frfafa § § FH-T1 SigEH AWIGA, ?
T WeRUT & feru /e = -~
Which of the following adaptations is /comm‘bn‘fn desert plants ?
Thick stems for water storage Lﬁ <
Pa AWV
29. ﬁmﬁmﬁ@aﬁq—ﬁaﬁ@ﬁwwﬁ ?
Which of the followifnigfofests are adapted to saline water ?
Mangrove Q
30. | foreft <o1 o B12, TR IHATYU! SohTsAT | faMTSH 1 SIM-T1 ITeg guIfaT 8 7
STeehHTehtuT
What term describes the splitting of a country into smaller, often hostile units ?
Balkanization
31. | “fevq 3% B THa”’ - ag & fehaes gra femam w7
SHifeT TR
“Conditions of Economic Progress” - This work was done by
Colin Clark
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32. | wra # fas™ #1 LPG Afed o yeqa feram o |
1991
LPG Model of development was introduced in India in
1991
33. | “SgavHe WTHT-g T TRHIRT Iwih g foreht g oft |
gEHg Tshadl
“Development Planning — the Indian Experience” book was written by
Sukhamoy Chakravarty
34. | VWG H IUHERT TRV Tt fRE oY i gam o ?
1986
Consumer Protection Act in India was passed in the year
1986
35. | YR reiegewer & g 3 9
H
The backbone of the Indian Economy is \:\
Agriculture 4 ;; ¢
36. | wredia wfeum % sede 57 % SRR B S % ®9 U g YN L 7, A e
ug g TR 2, wéﬁw%ﬂm\aﬁ% e, 39 Ug W YH: - S foIC a0 |
(N
Tgufd .
i ¥ 4
According to Article,57°6fithe Indian Constitution a person who holds, or who has held, office as
shall, subject to the other provisions of this Constitution, be eligible for re-
election to that office.
President
37. 1 319 IR T o 3Te8¢ 243Q % AT TSd TawmeH hl Twer 8 |
TRUTfCTeRT
means an institution of self-government constituted under Article 243Q of
the Constitution of India.
Municipality
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38.

T T TH Y Mk TR A THR h AT I gl g |
Hgane

refers to the existence of more than one level of Government in the country.
Federalism

39.

¥ HTeA 3R e o wSie & " & gm AU Hi gl AT & |
I Rl
The time gap between the question hour and the agenda of the day is called

Zero hour

40.

WRATT | 61 3198 129 & &, 1 feiE w1 =ArETer =ifya foka T R |
qdiea =

Under Article 129 of the Indian Constitution, the has been declared as a Court of
Record.

Supreme Court

41.

favaTat 71O & foTu fope 3uehtor 1 ST foRe ST & 7
m b

Which instrument is used to measure potential difference ?
Voltmeter ~

42.

2 TftRR fogd o waTfed e 9o ar g figdi e i fawarm 0.1 diee @ | 9 fogatt & =
Ry w7 y o

0.05 3 D

Potential difference between tW(%oints of a wire carrying 2 ampere current is

0.1 volt. What is the resistahe&between these points ?
0.05 ohm

43.

e TR ST Ssa Solt ol STSNYa il & of STk fisor o qo|e W = I g
g7 ~

e frar 2

What happens to the temperature of a reaction mixture when a chemical reaction absorbs

heat energy ?
The temperature falls

44.

Thicreh 1] o e w1 SEHE AR o &9 1 @i aifieh fopa Sran & 7
HifeR 3| rfrfehan ® et 3= gt

Why is burning of natural gas classified as an exothermic reaction ?

Because heat is produced in this reaction
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45. | wga ® SR AT gg1 3R T fopees g Rt B @ ¢
aftEem
In human beings, the posture and balance of the body is controlled by
Cerebellum
46. . 1
17401 40 e 1 122% @ 7
12.5 e
1, o
125 % of 1 hour 40 mins is
12.5 mins
47. | 2 9EAI3A BT PHBA 1530 B 3T IR WHY. 15 §, @ STHLAEY. R 8 ?
102 3
The product of 2 numbers is 1530 and their HCF_is {5, then their LCM is
102 ~
48 ' e e AN N
. | Fr=fafea § @ SH-H st g@n q%j,%‘:
57 L Y \
Which among the following is no& prime number ?
57 A
. N
4
49. . N 1 " 1 .
Ife 19 fordt T=n@ E..gz’%%aﬁwﬁwmaﬁ > T IO LA 7, a1 IATIHI 3 T 8 | s
CRIE I '
3
4
1 1 1
If you subtract 2 from a number and multiply the result by o, you get 8- The number is
3
4
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50.

290 frm @ AR quitet % = R & 2
17 3R 18

Between which two consecutive integers does /290 lie ?

17 and 18

51.

Fohd I 1 afeat & 3T S 98 F1 U 9 7 | TiER § R 75Y Few § 7
2

Suket has three daughters and each daughter has a brother. How many male members are
there in the family ?
2

52.

U Tl "l HI e i gg 2 92 20 fie o fohat wivfi gt a3 wuflfe
840°

How much angular distance will be covered by the minuteshand of a correct clock in a period

4

of 2 hours 20 minutes ?
840°

53.

-
¢ .y N
aﬁﬁﬁmgﬁﬁ%w%wﬁéwé\w@ﬁﬁﬁ@ﬁ%,wwﬁw@@ﬁ%éﬁ
N
Hw & 91 2, gt ST @ B | (ﬁﬁ,wﬁs@aﬁq% ?
L P \

The age of Amit is same a%%mit because they are twins, Richa is younger than Sumit, Richa
is younger than Jyotsana but*€lder than Saurabh, Sumit is younger than Jyotsana. Who is the

: g
eldest among them 2/,

Jyotsana

54.

fferfaa & & e wse g
THES

Find the odd word from the following.
Bat

JF4
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55. | fmfefaa wen s@en # ye g (7) & H W @ e ?
4,12, 36, 108, 324, ?
972
What comes in place of question mark (?) in the following number series ?
4,12, 36, 108, 324, ?
972
56. | frfefaa ® @ fpd 2024 ¥ TU-dUh & foTT 315 TEPR (ASHEH) e 7
TREAThTA TTRTH Ueeh
Who among the following received the Arjun Award (Lifetime) in 2024 for Para-Swimming ?
Murlikant Rajaram Petkar
57. | 18 a1 YamH WRdTa f¢ad (PBD) ¥9IeH 2025 el ST fohay/ e o ?
Where was the 18" Pravasi Bharatiya Divas (PBD) CenVention 2025 held ?
Bhubaneshwar -~
58. | WA gRI XS fomm She Srermed (IBC/A)W%QTWW ?
9 3T, 2023 o >
@ X \
When was the International Big&gt Alliance (IBCA) launched by India ?
9 April, 2023 "\
59. | 26 fewsy, 2024 @m%ﬁw fhEt g9 & guREle s UAV-122 s a%al aiemm
.
fepam @
Tl
On 26 December, 2024, which country successfully tested the firing of the supersonic missile
UAV-122 from the Bayraktar Akinci drone ?
Turkey
60. | 2025% et fohas T=T Q&I 61 =won <6t 71, THEH Th It Al (Teh o €9 H T W) oft
e g ?
139
How many total Padma Awards were announced in 2025, including a duo case (counted as
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one) ?

139

61.

wfeea gt, fo=i 6 SHadt, 2025 1 394 3=f1% 1 =iwon i, fohe oo % gamwE o
hATST
Justin Trudeau, who announced his resignation on 6 January, 2025, served as the Prime

Minister of which country ?

Canada

62.

TS Red 1 1 S, 2025 i o1 HEEtae e R |
THIRIUS S T AT hivH UUE TSR AT Shean (ASSOCHAM)
Manish Singhal was appointed as the Secretary, General of on 1 January, 2025.

~
Associated Chambers of Commerce an Ingustry of India (ASSOCHAM)
N\

63.

wﬂaﬁaﬁmmsnmaﬁmm{g&a’wmm%mmmmﬁm
O\

gAR 7
M

T AT AN
?

Which international’ini‘:t'i:f\tiVe has the Reserve Bank of India (RBI) joined to enable instant

cross-border retail payments ?

Project Nexus

64.

Y WgFAN 2025 A R fhH o0 & g smfsa ferm s w1 2 2
firg

Exercise CYCLONE 2025 is conducted between India and which country ?
Egypt
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65.

WA 1 TgeTl foeRlt S 39 hg fohe <o 3 9% g7 ¢
o™

India’s first overseas Jan Aushadi Kendra was installed in
Mauritius

66.

arer’ ohE T 1 T TRUR A1k AT §T B 7
AL TSI

‘Maach’ is a traditional folk theatre form of which State ?
Madhya Pradesh

67.

RIS h TG w17 7
g

What is the capital of Cuba ?

Havana

68.

e wfa fopm T w1 & Tfia @ ¢

I T ~
"\ &

Rasiya Geet is a regional song of whie %tgﬁ ?

Uttar Pradesh WX W

69.

o T 3 e 1 P 4 Sy e we 2 7
[2)
38 HACt AIHAHT H U9 FREsEehar 8
i 4

Which of the following gfé\tement is true regarding the Money bill ?

It can be introduced only in the Lok Sabha

70.

27 foaast =i % ®9 T TR ST 2 |
forva ueien feam

27" September is observed as

World Tourism Day

JF4
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71.

IR AT IgFH HTSH (ICAO) T JEATSTT hal feord & 7
aifeas

The International Civil Aviation Organisation (ICAO) has its Headquarters in

Montreal
72. | poeTied TS oM WA % T U9 8 fR 8 2
TSI
Keoladeo National Park is located in which Indian State ?
Rajasthan
73. | v o yifr Efr foRaw TET % W Emen AT R 7
7
India shares its land boundaries with how many countriess?
7 3
74. | 9Ra 3 1983 Tshehe fova u wreaet O fopar Sm =l Fuar Ot ¢
. "N
FEEEA ,
W\
#
India defeated which team in the 1383\&?jsket World Cup final ?
A}
West Indies
N,
75. | T SgHE T fashr Wed (DRPO) i T fohw o g% oft 7
?
1958 ; v
.
Defence Research and Development Organization (DRDO) was established in the year
1958
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fdw (w.9. 76 — 80) : Ffefgd S 1 wamgdes s1eem 3t i fow o et & W |
feam T R U ute STT-3Ter ghMl § o= TS afewdt (SR 3R geft) (ferctiume #) i AT 5
TIfaT 7 |

Direction (Q. No. 76 — 80) : Study the following information carefully and answer the
questions given below.
The given bar graph shows the quantity of vegetables (Carrot and Radish ) (in kg) sold in five

different shops.

990 936
900 864

810
720
630 576
540
450 432
360
270
180
90

<p<°

L2

648

504

o

A B D E
cdgh || Carrot
RIS

76, | F § o<1 7T il %! AT A, C 31K D & S T ol 1 3716d A 8 3K F 8 59 ¢ gofl 31T ToR &1
FAE 4 : 58 | FH S QTSR <l AT A I |

780 kg
The quantity of Radish sold in F is the average quantity of Radish sold in A, C and D togethe

and the ratio of the Radish to Carrot sold in F is 4 : 5. Find the quantity of Carrot sold in F.

780 kg
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77.

B 3T D ¥ S T TSR <t AT E | S=ft 78 dfewi i et W 1 fehan wfaea 8 7

87.8%
The quantity of Carrot sold in B and D together is what percent of the total quantity of
vegetables sold in E ?

87.8%

78.

AT 2 T g HT AT A 3R B H 9 T qeA T A0 3R C IR D H S T AR H A F i
1 AW 2 | AT S 8w H P T T i | (TR, geft 3R )

1152 kg

The quantity of Pumpkin sold in A is the difference between_ the quantity of Radish sold in A
and B together and the quantity of Carrot sold in C and D together. Find the total quantity of
vegetables sold in A (Carrot, Radish and Pumpkin), L

1152 k
g o

79.

B 3R Fﬁéﬁnﬁq@ﬁaﬁww;ﬂmw:%% | F 3R D ¥ s= 73 |fesai i §& &

H »

9 AR Fa Hw | X\

108 kg o \
(2N
The ratio of the total q@iahtity of vegetables sold in B and F is 32 : 35. Find the difference
i o

between the number’of Vegetables sold in F and D.

108 kg

80.

Tft gEl TR 3R geft < A § @ ST B 7
612 kg

What is the difference between the quantity of Carrot and Radish in all the shops together ?

612 kg

fdw (w.9. 81 - 85) : frAfceifed STt 1 S 31ERA P IR WA F IWE |

JF4
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= feu U @ 7T 9R STeRT-3T6 gl AT A, B, C 31 D g1 9 U a9t Wise U9 6l 91 Hl
ST 3 3T AT & IR TAT-3TH Gl gRI S T A U shl T 3R IR 3T -3 Gl
S S T HI3eA U b1 we oft & E R

Direction (Q. No. 81 — 85) : Study the following information carefully and answer the
questions.

The given line graph shows the number of ball point pens sold by four different shops i.e. A, B,

C and D and also given the number of gel pens sold by four different shops and the number of
fountain pens sold by four different shops.

400
1360
' \ 320
' 300
300
' 270
240
| \_/
200
' 200 v \
/ 180 180 3
140
120
100] 100 | €N
7 \&
| A
0 XV
A B C b
4 The number of ball point pens sold
& =9 U ST A FELEe
The number of géhpens sold
EERICEE P e e )|
* The nuridbepGifountain pens sold
& =90 BEY U H wE

81.

S F g a9 T FoA 99 H 8 40% U9 H13eH U4 8 | AfG §hM D G S 7T H13eA UH <hi H&AT
M F 8 31U 3: 4 8, ol g F gRI s 7T U 6l ol Tl S i |
600

Out of the total number of pens sold by shop F, 40% of the pens are fountain pens. If the ratio
of the number of fountain pen sold by shop D to shop F is 3 : 4, then find the total number of
pens sold by shop F.

600

82.

af¢ ghM E gRI 99 7T Sict W1ge, et 3 B8 U Y Fof TEAT g C I o1 A 33.33% FH B

JF4
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3R G C N1 9 7T HI32A 0 1 HEAT I ghM E 8 3T 7 : 58, a1 §bM E gRI 9= T st
wTse 3R et U Pl T A HIAT |

320

If the total number of ball point, gel and fountain pens sold by shop E is 33.33% less than that of
shop C and the ratio of the number of fountain pens sold by shop C to shop E

is 7 : 5, then find the total number of ball point and gel pens sold by shop E.
320

83.

THME A SN 9 T SiA W5 3R B3 U 1 Hel A1 3TN G D §RI o=l ¢ Fied @ge o
FeT T & S A TG B |
230

Find the difference between the total number of ball point and, fountain pens sold by shop A and
the total number of ball point pens sold by shop D.
230

84.

THE A ST A9 T S @ U B FoA HE GHMA TR B ZRT 3 T RN I Fe wen &
. L ¥
: \
3T TG L | 4 ‘ﬁ \
A,

1:4 X+
Find the ratio of the total(n@ of ball point pens sold by shop A to the total number of
fountain pens sold by shops A’and B together.

f )

1:4 i,

85.

M A 3 B g0 92 T S U Y FoT T gHH B gRT S T S WEE U hl hef TEAT BT
feper wferera 2 7
120%

The total number of gel pens sold by shops A and B together is what percentage of the total
number of ball point pens sold by shop B ?

120%

JF4
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fdw (9.9, 86 — 90) : ANTHT T T HL MW T HT WS |

P 3 Q gRT =R 3TerT-37e HEHT 8 ford e 3t gss (fawdt + 3ieh) few mu €
Direction (Q. No. 86 —90) : Study the table and answer the questions.

Total pages (Hindi + English) written by P and Q in four different months given.

d P Q
Month
w 240 340
May
S 320 234
June
T i 420 280
July
220 360
August
86. . Ve .
T3 3R S # P g fofe MU 3 I83, WS 3R ST A Q g1 T U et guai 1 A foha
ferera 2 ? ~
80% N\
Total pages written by P in May and juhe’together is approximately, what percent of the total
pages written by Q in May and Augusttogether ?
80% AN
87. | 9o # Q g @ MU He1 YRS 28.57% fet H B | Q g1 Jom H fore 3ieh gss for@ o
200 k 70‘
28.57% of the total,pages written by Q in July is in Hindi. How many English pages are written
by Qin July ?
200
88. | mft wdiHi # P g fore Tmu Sfiwa s W E ¢
300
What are the average pages written by P in all the months together ?
300
89. |wEH P 3R QaH giI fof@ 7T it Ieai 3R I # P 3R Q €Hi gRT foi@ T it geai & &=
SHSI: AT H R 7
29:35
What is respective ratio between the total pages written by both P and Q in May and the total
pages written by both P and Q in July ?
29:35
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90. |37 ® P g for@ U gsai w1 wifowrd Q <t g ® @9 E g H fehanr 31U @ 2
36.75%
How much more percentage of pages written by P in June as compared to Q in same month ?
36.75%
e (1.9, 91 — 95) : TIfeTehT 1 3T B 3T T HT IW ¢ |
3T ST HEHI | °fel STERT- 3T o1 gRT s 1T T9ed |
Direction (Q. No. 91 — 95) : Study the table and answer the questions.
Laptop sold by five different stores in different months.
®R| W | g | W | e
Store | June | July | May | October
I 240 342 234 210
J 230 234 432 242
K 120 338 235 234 ?
L 280 348 342 178
4\
M 326 456 362 1/ 48& ,\‘
O
91. A X
g U WR K, L3R Mmﬁwwﬁaﬁw (TTTTVT) HEAT T HIT |
313 CA™
Find the average (approX.)number of laptop sold by stores K, L and M in May.
g v
313 —
92. | 9fg @ ® WR L g/ o= Y 37.5% 9 Qqul &, df S0 § R L g o T TR-GY0i 9erd 1
it |
175
If 37.5% of laptop sold by store L in June is defective, then find the non-defective laptop sold
by store L in June.
175
93. | Joims 3R 3TageR § WR J g s T U 1 §&I1 05 3T I H R M R o T A9erq i
feper sl & 7
69.18%
Number of laptop sold by store J in July and October together is what percent of the laptop
sold by store M in May and June ?
69.18%
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94.

S H WR K 3R L g1 o T 99eid 3R 78 | | 3R M gRI S ¢ 9T i STU 1 7 7
100 : 149

What is the ratio of the laptop sold by store K and L in June and the laptop sold by | and M in
May ?
100 : 149

95.

e H W | gRT S TTT et AA9eTd, o 8 ot AT T 71.42% B | 37eK T 8 =R | § 7 foea
A AL <hl &I 10 |
84

In October total laptop sold by store | is 71.42% of total laptop in the shop. Find the number of
unsold laptop in store | in the month of October.
84

96.

Choose the correct question tag for the following statement.

The windows are open,
aren’t they ?

97.

Choose the word which is nearest in meaning (synonym) to'the given word.

Admire
Praise ~

98.

Choose the indirect form of the given seqte’hc&
V &

| said, “The teacher likes me”. o L\ ?
| said that the teacher liked mé. NV

Direction (Q. No. 99 and 100)\:\ead the passage and choose the correct option to answer
the questions that follow. :>("

s

- Advances in Electric Vehicles

Electric Vehicles (EVs) have gained popularity as an alternative to traditional gasoline-
powered cars. They offer environmental benefits, such as reduced greenhouse gas emissions
and lower air pollution. Many countries are investing in EV infrastructure, including charging
stations, to support the widespread adoption of electric vehicles.

99.

Which of the following is a type of EV infrastructure ?

Charging stations

100.

Why are countries investing in EV infrastructure ?
To support EV adoption

JF4
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IR YY1 31N Wl =T AT, e
o= wen-01 -udien/2025
TR agan wdien (PET)-2025
I el (AR Te)

odten fafer : 06-09-2025 el ; 9o

St forereor 319 feawsy b wEn =1 aftqmr & fos 4 39 =€, 39 forsroor sga 2
gfeuTaTeh

T ! TgE TR e Sft S wiaar 8, e %, U o R H §dd & |
aua

e 1 fadm vee 2

IS
~

Iq TEHI VoG &, IHehT dcaH ITeq \S
e o
a X \/

e fe@mr garer o1 @8 31 2 \
TE H 3 N

p
ew (9. 9. 6 ® WA, 10) +Frferfiaa e 1 weeht I8 T FeAl % I AR |

§ wfi-sft g 5 f6 3o il a% @S B orafdar e % arg ot yRaed sftetvew @
AT R A& g Tl ? 3T AT ISE! o faq oft e ol - Taderan, sy, Tenefiar-
3 GF H TR T A @1 | Ig T FAN HI 91 g A SR SE W E I H, §A
W1 % R Yehe B W@l & ¢ g9t wor-faqe 1 ama TR amg ot @ - weea gia see wyfaa
HTE TH B | WS B % §I¢ WUTEa: & 8AR Ja1 IR fommaiier Amiies e o 8 fh 3w o W
o= 1 U el S SR I | g9R <N N Ugell SR 98 99 9 o &, UE 9 6 R | gE|
sfirera 9ga qUAT 2, EUR WG § 39 GRS R AE1 WG SR A deqsh 9 fowm mn R | 5w %
ifrgu T §, S @i-Td SFH S # qgare SR o1 f ™ 7 | g e afenn,
ISR fogel 3T TEhR I5ad 8 | BAR 3 § oft 3 a1d &8 uo @ foan & gem 61 Swon <t
g | 98 S 7 fop aRfeufoat sga mft €1 Swew 19 21 T ¢ 3R 3Sael 1w off Siga s¢ W 2,
W A THEE g5d AT T8 Seoit & | ARdE o9 S e ot omdfiar % ®9 § F dreet
AT % ®9 § GrEdl 8, 98 gAR SEehiel SR 1 Bl & | 98 T o S i AEH § T
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BIE Tl | SIH-3TT T -39 o GRI AT T S-64 SANI H&BId hl Sl RI fowar g | |
Ul @ & Tt S $® gER QAT ], S 3 U ey 7, 369 7w e & ® | WE w1 A
TS GHY IS & A Bl | W S%d i Mg § gad TEAarell SeRar A &1 ey T8 59 "ehdl |
g | vEn off 78 9 wekar b g9 Wt STHEfueE % 99 ° ST gt 31T SEE @l ¢ | Hifaigd |
g1 o1 o 79 [ 310 & A2l 81, ¥9 94 T g & 8 |

gt wfi-heft Fo Hie T § 7
IS i STTAfTAT e o A1g Ht WA SfUsuve i S Ft T8 g Teht ?

S F AU ISl o A oft Frentor foRd waear, @Sy, w@neiar-39 99 o EARCLE
e @I |

eS|

ergehst o iftr-fermmfaet i wi-wft a1 arg S @ ¢
g i S wfet AW E |

HIfICTE 3 AT hal AT ?
e YU 373 § 721 21, Ta 73 T ¢ T g |

10.

T S I Mg | gE Tl Ww@ﬁaﬁml
daftan \¢

o

ﬁém(u.!i.n@u.ﬁ.w):W@@%w@muﬁ%waﬁq|

@ H oot # yafn % foem 3 1 Ioel H1Y 2 | w1y s wfd 3w grar & sweh wif A
<IseT I ST 7 | Heon freeh g B & 3Heh! WEATS o1 ITNT fohal ST B | Ferelt X e Bt
Wi ST IEhT TRATE HUd B | SEHYR UTH 1 WellS hi IvoHl g:@ IR M Sl hl Avr # el
% | 3 i Ao Ty 0 g TR T & S 9 A A e F, wgaE )l # v
nﬂﬁw%sﬁwaﬁw‘s‘aﬁaﬁwwﬁ | &y &, 8 89 e 1 Aol O wan g, ae st
Fft 3R Al a1 TGt i TH wwa @ W & S =faq @ a5g w1 @ g, 3T T 98
Fuft 7 Ham IFﬁ‘lﬁWﬁFﬁWQﬁ?ﬁ@;m%ﬂﬁ'{ﬁﬁwlsuq fehel 3T GE HuTeTRt W@l |
TAET & ®9 % At FTEATR A I B i AETRT T ST Dl &g =4 § @ |

HUX HET ST IRl 8 b T ST & FATS H T LAl @, I8 @ IR §:W I 9ga-§1 37 GE hl
Tspam 1 37aEen W gt 81 ST 2 3T 39k g1 o Ja1g a1 Sied o faear & fou srfires
&7 B AT 2 | 98 g S 3@ U gEl 3N gl % 9@ ¥ & BH o 2 | 3 <@ I8 § R gl
% 5@ | GG g &1 =W a1 =ardes 8 1 301 & gl < g@ ¥ gt g o ot | et gEt s
I "I €W g U Wl BT el b o To1T 5 Tl T@d 9 e foh ¥ 7 Aied &1 91 o a8 B
2, el Tea1 3 3 HE1 7 ; Ig 3R 9§ 6 7w e o T der v @ 2 IE @ il sy
1 TR TR 8 gUrl 1 QX A1 HH B I | UH TR W gUR SIH % T 98 310 AT TR
3T ST B 3T 39 STUEt A7 AT T I0gM sl §AR 19 6l qfse T T1eeh 8 A1 2 |

TR 7 foh e 6t wifed & forw a6 g@ o srfaftes o foreht fariwan <t arvem 7 |
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11.

3@ 1 Avft # sgf o fo=mR @ w0 1 Ieet 1 & HhaT § 7

Y
12. | weon fomeh g 3caa &t 8, 3 fore @ fopam S @ 7
IHeh! WEATS hi 3TN fRaT ST 2 |
13. | forelt Wy Bieht oft ST I|ehl YelTS i & | 39 YR UTH <hl WeITS <hl e fobet SIfort o vt
STt 8 7
T:@ 3R 3 gl ht
14. | 31Hc 1 Aoft § TET g g TR &l @ S T <l BT Sl IS B, W g HY Aol § v
TR & S U < I IASHT AT 2 |
g
15. | fermeht wifeq = for ot & g & StfaRem 3w foreft forsiwar 6t sqdern 76 it 2 7
Eaaull \
16. | weri 3 Freferhan & @ frm v w e s e, (ar) 7
gl )
Mahavira attained moksha (became a Sfd(;r?é)"at which of the following places ?
Pavapuri <\ >
17. Ww,ﬁwﬁﬁﬁﬁWW%,m%ﬁaﬁww% ?
EC oA
The Purusha Suktay whicI{gprains the origin of the four Varnas, is found in which Vedic text ?
Rig Veda -
18. | gsum wear fopm 7 & wafrq 7 7
T TN
The Harappan Civilization belongs to which age ?
Bronze Age
19. | 9 7 fohu 3u # ufithresmor (31fam gfe) wmea i 2
80 d
At what age did the Buddha attain Parinibbana (final liberation) ?
80 years
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20. | 3mfe quor fopa diefnt it Gaefa dug ? 7
anfene
The Adi Purana, is the hagiography of which Tirthankara ?
Adinatha
21. | se forfemt sfean dremsel i = e g8 oft ?
20 3T, 1843
The Bengal British India Society was established on
20 April, 1843
22. | oieq # 3% sfeam wifiuem s v fopeeh gy i S ot 7
TETHTE RIS
East Indian Association in London was founded by
Dadabhai Naoroji
23. | Rreprtt # avi wwg 1 S fohe Y g3 ¢
1893 ~
The Parliament of Religions held at Chiq@g\in'.which year ?
1893 4 15 .
3 QA \\
24. | sraefie afufa 1 gee et %?\‘
<hetehdl (;‘\\
The headquarter of Anus@l’an Samiti is at
Calcutta -
25. | wRa & fawre o faifew aepr g =i fobw < <t awor fepam <6y off @
TS UISeaen
Who announced the British Government’s acceptance of the partition of India ?
Lord Mountbatten
26. | farva 1 T et T HA-E R 7
RIES
The longest river in the world is
Nile
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27.

1 oo e ¥ fohe TR 1 TgM HEE1 ey AU JE g8 @ 7
MY 3R ARG TgH
Which type of rock formation is most commonly associated with low groundwater storage ?

Igneous and metamorphic rocks

28.

Fe I T 9|1 ST Ll B |
g‘:q

The camel stores fat in its
Hump

29.

WA o ufva™ | hH-91 9PR fRa g 2
& AR

Which sea lies to the west of India ?

Arabian Sea

30.

DTM % fohg =0  ged oS Sieea gfg Set St 2 2y
=0T 2 *

Which stage of the DTM sees the fastest popUlation growth ?
Stage 2 N\

31.

/
Aol Frfereear 1 w1 a4, \5
3 3N gl ufet sAfe st maﬂg{?
Meaning of the underdeveléped economy was

Countries in whichsper. ggpita real income is low

32.

wé;aaﬁmmﬁ%?mgmmﬁwwaﬁiwwsoﬁwww £y
fean m | '

TS Uo7 TSR HIshe
The food for work programme was restructured and renamed as from October, 1980.

National Rural Employment Programme

33.

HASHIEAT % AR HI (G IWHAISN T TgaH IR ARG FH % fog Fr=felaa & 9
S -|1 W R HAT 8 7

ferdiar weemm
Which of the following acts as a vehicle for mobilising and transferring the economy’s surplus
to the ultimate users ?

Financial institutions

VZ9
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34. | form sitenfies Hifa yeaa 3 adwftes &7 o IR sreferarn § v wiifos gfteer yeH ¢
aitenfires Hifa wera 1956
Which Industrial Policy Resolution gave the public sector a strategic role in the Indian
economy ?
Industrial Policy Resolution 1956
35. | T ATk HeAT e WIS 1 U &t 370 Sfied shi qeid STevesharati ol ot g e H swemed
A &, 34 g IR |
RG]
A social phenomenon in which a section of the society is unable to fulfil even its basic
necessities of life is called as
Poverty
36. o % 2 et #18 T wed # Hifgs 3w =rear @ iR arifed fow grr wewmn
ST 2 |
ARIfRa
question is one to which a member deswe an oral’answer in the house and which is
distinguished by an asterisk mark.
Starred
37. W%WWRWWQWHW@@\WW@@W % Jiaid AT B |
I 48A Lﬁ X
Protection and improvement of envirohgient and safeguarding of forests and wildlife of the
country comes under \
Article 48A A
38. | ¥ 1 e el T (1626 T S fobe T o |
AT e -~
The Constitution of India was first drafted by in 1928.
Motilal Nehru
39. e e 3ATdReh ATITAhIA % SR o] BidT 2 |
3TIBT 359
is applicable during external as well as internal emergency.
Article 359
40. | YA % TSIEHT & T A 2 |
Juaregaf
of India is Ex-officio Chairperson of Rajya Sabha.
Vice-President
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41. | fata ® yeprsr <l i 3R ATEW | YehTST i TA o STHATT I HILH gl AT 2 |
AU
The ratio of speed of light in vacuum to the speed of light in a medium is called the
of the medium.
Refractive index
42. | e +4 D vfed 1 U 3T @ 3R —10 D T 1 Th Fadct o Th GER & HUh § W@ A1 8,
gfgorret wifer s gift
-6D
If a convex lens of power +4 D and a concave lens of power —10 D are placed in contact with
each other, what will be the resultant power ?
-6D
43. | ufire =i form uered 4 w9 w1 4 gufed foram San @ ¢
i 3R RiXfees
Acids are stored in containers made of which materials ?
Glass and ceramics Y
44, |71 & HH-F sl Ag aui 6 T § gereRt HiaiES U (H,COs) S B 7
. Val’
e SIS (CO,) 5 N
Which acidic gas from the air dis.ssl»\/e{iyrainwater to form carbonic acid (H2CO3) ?
Carbon dioxide (CO>) \
45. | TEd % DY F FA 3 >(';“\
Ex eIl : /
-~
The flower of the Hibiscus plant is
bisexual
2 .
46. | o wfowm w9 d P @ 7
40%
5 in percent form is
40%
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47.

Ife x 3 y TE-319T &, A ITHI LCM 1 2 7
xy

If x and y are co-primes, then their LCM is

xy

48.

Y <t 3 3okl hl BEAT 3R Y DI 2 371 ol TEAT o & T AL FT & 7
989

The difference between the largest 3 digit number and smallest 2 digit number is
989

49.

Ife 2994 + 14.5 =172 7, A 29.94 + 1.45 =
17.2

If 2994 + 14.5 = 172, then 29.94 + 1.45 =
17.2

50.

HIT-H1 TS & : V45 AT 49 -172

Ja5

Which is greater : 45 or 49 -17 \
Ja5 N\

Y .

51.

T T8N 1 IR Sd U, U Hiedl Hehal, SHehl °T T i it et adt @ 17 quW 1 Afgen § @@
qEg g ? \

a?l (;«\

Introducing a man, a wbman“said “His mother is the only daughter of my father”. How is the

man related to the worggn“‘}

Son

52.

Ife 1 SHadl, 2001 1 GWAR o1, 1 31 fedst, 2001 ! T8 &1 HiA-91 fe a1 ?
AHER

If 15t January, 2001 was Monday, then what day of the week was it on 315tDecember, 2001 ?
Monday

53.

HohST T § ST 8 Tiich Uehsl H BT 8 | RS T & ST § SAfehd 3T & BIT 8 | 370 ¥ ged
BRI HA R ?

Ferifm 7 T s Eera

Mukesh is taller than Suresh but shorter than Rakesh. Rakesh is taller than Harish but shorter
than Amar. Who among them is the shortest ?

Cannot be determined

VZ9

8 MASTER SET




fafafaa o & wden g s HifT |

54.
qa
Find the odd one out from the following.
Mercury
55. | 45 BT hl Hefl H 7YY 1 & SN H 158, @ < § YT H1 {6 F=18 7
31
In a class of 45 students, the rank of Ayush is 15 from the top, then rank of Ayush from the
bottom is
31
56. | 7% feweht # smifya sfean sium Sefifer 2025 # vy uhel w1 fgar ferem sfhar 2
v TR
Who won the Men’s Singles title at the India Open Badminton 2025,held in New Delhi ?
Viktor Axelsen
57. | R " ®IA (FMF) 2025 S8l STaltd fhar T=m o1 ?
T, ged sna
Where was the Future Minerals Forum (FMF) 2025 k;‘eld ?
Riyadh, Saudi Arabia
58, | St 2025 & BH-T 3 e A W g F 10 o Tof wew w7
FErforn _ ey
Which country officially became trLejO\t’ Il member of the BRICS group in January 2025 ?
Indonesia A
\
59. Hﬁﬁmﬁﬁwﬁmﬁwgaﬂ‘zozswﬁwwm ?
TR <Rl T ST TGS H Saertel e
What was the therfie ow\é”Entrepreneurship Development Conclave 2025 held in Pune ?
Empowering Entrepreneurs Transforming Livestock Economics
60. | T8 IHTGh Tgata ot H1eT 1 100 oW <6t 31y # fopw faf w1 fem &1 o 2
29 faER, 2024
Former U.S. President Jimmy Carter passed away at the age of 100 on which date ?
December 29, 2024
61. | 15 e, 2025 1 ¢ feoeht # smfom ws wmrig # egufd oy worgReT g Ryt & He
AT GEhR § fopdl EeATa fokam TR 7
asulqre
Who was conferred the Honorary Citizen Award of Singapore by President Tharman
Shanmugaratnam during a ceremony in New Delhi on January 15, 2025 ?
Tarun Das
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62.

ek fafagan (Femem) sAfufm, 2023 w8 ARLF ?
1 3T, 2024

When did the Biological Diversity (Amendment) Act, 2023 come into force ?
1 April, 2024

63.

5 SeRl, 2025 i, WA d¢ & & & e efatad ¥ & f6F e g @ et 9 3
fesmsa ok ffifa disr el o (FPV)-3Med 3R SAe-ara fhe e ?
Titen fTes fefiee

On January 5, 2025, two indigenously designed and constructed Fast Patrol Vessels (FPVs) —
Amulya and Akshay — were launched for the Indian Coast Guard by which of the following
Shipyards ?

Goa Shipyard Limited

64.

SRR &1 AftRR @ @ U (Th e §t) SR NeYH $S%RE 2025, 1 8 1 TRV el ST
TeRaT T o ?

Efeen vemifsTem wié fafiee, e e
Where was the 8" edition of Indusfood Asia’s prémier*Food and Beverage (F and B) Trade
Show 2025 organized ?

India Exposition Mart Ltd., Greater Noida \

P

65.

.. -
N N\
. . . # .

femsw 2024 ®, fopm @med A “S.A.F.EF‘QW, THISE, TAfFSe T THRUE) THmE
ferformtor fererer o foru srfiren stmemer, Winemd Fure S 6t 72
e 3ReegyH mﬁémwﬁng&qunn T
In December 2024, which drganization released the report titled “S.A.F.E. (Secure, Affordable,
Flexible and Efficient) A€cémifhodation : Worker Housing for Manufacturing Growth” ?

v
National Institution for.Transforming India (NITI) Aayog

66.

W—Wﬁaﬁ@mﬁ@éﬁlmmmm@r | 39 GfYy w1 919 o1
fay st vty

The India-Pakistan signed a treaty in the year 1960. The name of that treaty was
Indus waters treaty

67.

Shifer &1 TSuT =T ?
e

What is the capital of Libya ?
Tripoli
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THTTE AR hl T el FMMedl § 8 Toh & 31 foh0 Tsa | @ 2 7

68.
JEUTTA TSI
Kangto is one of the highest peaks of India is located in which State ?
Arunachal Pradesh
69. | WRdIT Tl % fore e % AN, Tu 1 SEwR wiw wsgdfa o fifga anft 7
381 53
As per which Article of the Indian Constitution, the executive power of Union shall be vested in
the President ?
Article 53
70. | Tora Sustrer AferepR feam e T ST B 7
15 1Tl
World Consumer Rights Day is observed on
March 15
71, | A o9 TS (ILO) T &I Hhal ed & ?
e R
Where is the headquarters of the International Labour ©Organization (ILO) located ?
Geneva ~
72, | foro www el feud @ 7 = Q.
ferdiree 8% )
Vijay Stambh is situated in [ \
Chittorgarh ~ \\
73. é@ﬁﬁwwﬁawwwﬁﬁgw% ?
T -, o
Dekhni is a traditionakdance form of which Indian State ?
Goa
74, | TE @t foha @t § T SR ST B 8 7
4 T
Asian Games are held once in how many years ?
4 years
75. | Sgam-3 form o weifua fema mm o 2
2023
Chandrayaan-3 was launched in which year ?
2023
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fdw (w. /. 76 4w, 9. 80) ; fmfafaa St 1 eamgds rerET w3 e F WL |

= feu T a9 ute STer-3Ter TEHl A SHe, B, ", oTie 3R s § i i
(& 3 ATEE) I et wean 1 fowrd T guiiar & 3t @ & few 7o eaat =t ure 3rer-
Ste A faftte oot BT 1 GEn % A6 HRiE § S gt 2 |

Direction (Q. No. 76 to Q. No. 80) : Study the following information carefully and answer the
questions.

The given below pie chart shows the percentage distribution of the total number of chairs
(wheel and office) manufactured in five different months i.e. January, February, March, April
and May and also given table chart shows the ratio of the number of wheel chairs to office
chairs manufactured on five different months.

Fftta FRi=t 6 e T = 5000
The Total Number of Chairs Manufactured = 5000

EECK|
May January

27%

February
20%

March
18%

L et i Bt He SR,
Months Tl o fmtor B” ?
The ratio of the number of

wheel chairs toroffice
chairs manufactured

Lottty
St/ January ;’ 2:1
; o
%’/ February - 753
II'I?f/March ) 4:5
31t/ April 1:1
73/ May 3:2
76. | Smaht i fififa o PRI § ¥ 209 Fhiat T frbl | Ay s § @ R T sThE HRE 6
AT AR S HEAT I TG H FAIAC 5 ¢ 4 8, Al S H o= T3 Sl Sl bl w@d J
i |
780
Out of the total number of chairs manufactured in January, 20% of the chairs are unsold. If the
ratio of the number of office chairs to wheel chairs unsold in January is 5 : 4, then find the
number of wheel chairs sold in January.
780
VZ9 12 MASTER SET




77. | o8 ® fafifa =iar e 6t gen it ek § ffia srida $Ribt i @en w1 s 3 Hif |
5:3
Find the ratio of the number of wheel chairs manufactured in May to the number of office
chairs manufactured in January.
5:3

78, | ®Edt ¥ fafda =diar S i gen 3 stia 4 faffa =fier i 6t e % S s 3w
450
Find the difference between the number of wheel chairs manufactured in February and the
number of wheel chairs manufactured in April.
450

70, | 3 5 i ffita et it 61 g, w § Fffa e R Bl GE @ 5/8 § S A 3 5
i sirhre SR 6K g &1 U 5 3 7, d 57§ Hifa e AT 3T H |
550
If the number of wheel chairs manufactured in June is @ the number of wheel chairs
manufactured in March and the ratio of the number of office ¢hairs manufactured in March and
June is 5 : 3, then find the total number of chairs ma%\'c; ed in June.
550 K7\

80.

fpaT wfesra & 2

50% O
The number of office chairs manuin April is what percentage of the difference

between the total number of ch \ ufactured in February and April ?
50%

ﬁaﬁﬁﬁaaﬁﬁvﬁﬁ@wﬂ%%ﬁﬁaﬁﬁw@%ﬁaﬁw

I s |

Direction (Q. No. 81 to Q. No. 85) : Study the following information carefully and answer the
questions given below.

-\
ﬁéﬂ(9.#.81@9.#.85@%%1@331?3:@%Wmﬁﬁqaﬁxﬁ%ﬁqns@%

TGl o 3ifehd 0ol (5. H)
Marked Price of the Products (in Rs.)

T T T T

Cell Phone Computer Smart Watch Dining Table Book Rack

VZ9
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81. | Al HI H1 3Alhd oo 30 T Yod W 20% HAUH 8 3N GHHGR H & IAlhd Ted T 15%
&I P2 <dT 7, A1 HR I @Y Tfaerd 71a Hif |
2%

If the marked price of the computer is 20% more than its cost price and the shopkeeper offers
a discount of 15% on the marked price of the computer, then find the profit percentage of the
computer.

2%

82. | Ife T B % 3 YA 3N 3fhd Yod 1 AT 3 : 4 7 3T THMEGR gRT ATSiq 19 1,200 T 2,
T GHMER §RI & I aTell g T hIY |
800 TT
If the ratio of the cost price and marked price of the cell phone is 34,4 and the profit earned by
the shopkeeper is Rs. 1,200, then find the discount offered by thé*shopkeeper.

Rs. 800

83. | 13T o 3R g 1 o 3Afhd Hed I JEd A1 HINL |
8,500
Find the average of the marked price of dining‘}able and book rack.

N\
Rs. 8,500 py L\} )

84. |wé af 3N g 1 1 osha qeA, 4% 5% I § & 31 T AT 1 B e 4,800 TR B | A
g%ldQliaﬁwléﬁammmWW 10% W THerd 8, A1 GHMGR g1 9 1 W & IH
el B Fd HIT | CA
250 FT3 ?

g v
The selling price of gmart watch and book rack is in the ratio of 4 : 5 and the cost price of the
smart watch is Rs. 4,800. If the shopkeeper gets the profit of the smart watch is 10% of its
marked price, then find the discount offered by the shopkeeper on a book rack.
Rs. 250

85. | T3 o T sk o 3TN Afehd Hed 4 : 58 | AG GHMER &l 25% 1 o fieren 8, @ 3t
SIS T 64 A A HINT |
6,400 U2
The selling price and marked price of the dining table is 4 : 5. If the shopkeeper gets the profit
of 25%, then find the cost price of the dining table.

Rs. 6,400
VZ9 14 MASTER SET




Fcu (v.|. 86 | . 4. 90) : & 7S d1fctehT TR ITTT- T hU-Al § HHATRAT shl &A1 3 FE-4
fowm & ey wH=iEt w1 wfaea, gy 3 afgen seriel &1 g i 2 |

HACET H QY ITHT-3AAT fI9IT B8 3 AR & |

Direction (Q. No. 86 to Q. No. 90) : The given table shows the number of employees in four
different companies and the percentage of male, ratio of the male to female employees in
Finance department.

The companies have two different departments Finance and Marketing.

&R (g e s ferm [ wrgaem faram
Company [seenfet it [srenfe |6 wrenfEt  [H gew oiv
T/ T %/ %/ wfgen
Total %ofthe [%ofthe  |wwenia
ber of I I T
tra‘rl'lnr:Ioe;:es rennz;‘[:eloyees ?anF::ay:(?: h ] /
department |Ratio of the
male to
female
employees
in Finance
department
A 2000 60% 70% 4:3 3
B 2400 75% 50% 3:1 s
c 1800 50% 60% 5:4 -~
D 2800 75% 50% N &5§_
” 4
86. aﬁﬁeﬁwﬁaﬁﬁwmﬁaﬁaﬁlﬁrq@hm% ?
a X \
1500
What is the average numbe(rﬁ)i[;}e employees in all the companies together ?
1500 >
” 4
87. | D H Trhfem fawm & _srdenRal § qeY 3R Afgeln Sl ot T 1 UG F=1 7 7
6:1 :
What is the ratio of the total number of male to female in Marketing department employees
inD?
6:1
88. | C ¥ ®reAH fawm § qey HH=IRA 1 T D | WIeh(eT fa9mT o HU=TRAT 6T T TEAT T AT
fepe e & 7
43%
The number of male employees in Finance department in C is approximately what percent of
the total number of employees in Marketing department in D ?
43%
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89. | meft spufai o ARk fawm # gy 3R Aigen HH=RAT & " F1 TR g ?
1680
What is the difference between the male and female employees in Marketing department in all
the companies together ?
1680
90. | meft i & WA= faum & afgen swi=nRal & e e F=1  ?
470
What is the average number of female employees in Finance department in all the companies
together ?
470
few (9. 9. 91 | W. §. 95) ; FrAfetiad Seit o1 SAMYds 31 Hla3fit fou e yw=i & 3w T |
frferfaa arferet ek fafvea av # 5 fafi= forami gra ScaTfea wo@l Phapa e (faiea o)
qdt & |
Direction (Q. No. 91 to Q. No. 95) : Study the followingiinférmation carefully and answer the
given questions. 9
The following table shows the total number of crops (in quintal) produced by 5 different
farmers in a certain year.
w | wwE | W =y Wy L )
Rye | Mustard | Oats Sugarcage \Nﬁtﬁ(
T >
Roshan | 840 | 920 340 4900, "\#300
TR 1 480 | 580 180 %o 440
Prabhakar L™
%@ 750 | 660, 2% 560 650
Theja W
P 200 | 1050%| 280 840 820
Bhargav
T 1260 | 760 320 720 630
Krishna
91. | UM gRI IcHIEd A BHe, AT GRI I Bt BES! b1 AT fohen ferora g 2
97%
The total crops produced by Roshan is approximately what percentage of total crops produced
by Bhargav ?
97%
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92.

AT gRT IcqTied 3NEd BEd Id R |
574

Find the average crops produced by Theja.
574

93.

gyf} feu 7 fopami gro Scatfed UE 3i 18 & 3fiHd o o= 37T 3 Bt |
192

Find the difference between the average of Rye produced to that of Oats produced by all the
given farmers together.

192

94.

Tt fopeml g IeTfed $or Tl 3R Het 5 % a9 ST 71 R |
397 : 284

Find the ratio between total Mustard produced to that of tetal Wheat produced by all the
farmers.

397 : 284

<
4

95.

fopw fopam 3 et wod 0 waet IS ? ~
LEL N\ &

#
Which farmer produced third lowest n@er of crops ?

Theja x

96.

Choose the right answer f&&‘ﬁ‘%\e five options given below to frame meaningful sentence.

Rama / garden / in/ the /\b€ / may
-~

Rama may be in the'garden.

97.

Choose the one word substitution from the five options given below.

A group of persons working on a ship or aircraft

Crew

98.

Fill in the blank with the correct option.

What for breakfast ?

do you usually have

VZ9
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Direction (Q. No. 99 and Q. No. 100) : Read the following passage and answer the questions
by choosing the right option.

Time is one of the most valuable resources we have, yet many people struggle to manage it
effectively. In today’s fast-paced world, students, professionals and even homemakers face
numerous tasks every day. Proper time management helps individuals prioritize their
activities, meet deadlines and reduce stress.

One of the key benefits of managing time wisely is improved productivity. When people plan
their day and allocate specific time slots for each task, they tend to achieve more in less
time. It also creates a sense of discipline and responsibility.

Moreover, effective time management leads to better work-life balance. When tasks are
completed on time, individuals can make space for leisure, hobbies and family. This not
only boosts happiness but also improves mental well-being.

However, poor time management can result in procrastination, missed deadlines and
increased anxiety. Developing time management skills fequires practice and consistency.
Simple habits like creating to-do lists, setting goals, @and avoiding distractions can go a long
way in making each day more efficient and meaningful.

99.

What is the main purpose of the passage ?

x
$

To highlight the importance of time \amagement

100.

Qe y

{
According to the passage, how g§|ind|viduals start improving time management ?

By creating to-do lists and.avoiding distractions

VZ9
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